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PREVIEW QUESTION BANK

Module Name : NCET - ENG
Exam Date : 10-Jul-2024 Batch : 14:00-17:00

NS: Client IQDuestion Question Body and Alternatives Marks Nl\(j[gaitli\s,e
Objective Question
1201 1201 4.0 |/1.00
Which one is not included in Four Noble Truths of buddhist ethics ?
(1) Suffering
(2) Cause of Suffering
(3) Way to remove Suffering
(4) Practice of Suffering
Al:1
A2:2
A3:3
Ad 4
Objective Question
1202 /1202 4.0 |/1.00
The famous martial art Kalarippayatiu was originated in :
(1) Kerala
(2) Tamilnadu
(3) Andhra Pradesh
(4) Mizoram
Al:1
A2:2
A3:3
Ad: 4
Objective Question
4.0 ||1.00

1203 1203
The Science of Architecture is called as :

(1) Vastu Vidya
(2) Artha Vidya
(3) Niti Vidva

(4) Murti Vidya

A2:2
A3:3

Ad:4
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Objective Question

1204 1204

Which one is not a part of dramatic expressoin ?
(1) Angika

(2) Vachika

(3) Aharya

(4) Rajasika

Al:1

A2:2

A3:3

Ad 4

Objective Question

1205 1205

Match List - I with List - IL

List - I List - II
(A) Krida (I)  Excercises
(B) Vvayama (II) Pranayam
(C) Dhanurveda (IIT) Games
(D) Yoga (IV) Archery

Choose the correct answer from the options given below :

@) (A, (B)-(1), (C)-(1), (D)-(IV)
2 (A1), B)-(I1D, ([©O)-(1V), (D)-(0)
(3) (A, (B)-(1), (©)-(IV), (D)-(1D)
@) (A)-(IV), (B)-(1D), (O)-(T), (D)-(II)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1206 | 1206

Viakyapadiya is written by :
(1) Bharat Muni

(2) Panini

(3) Bharwhari

(4) Patanjali

Al:1
A2:2

A3:3
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A4 4

Objective Question

1207 /1207 4.0 1.00
‘Nitkima Karma“ is the famous doctrine of :
(1) Hinduism
(2) Jainism
(3) Buddhism
(4) Sikhism
Al:1
A2:2
A3:3
A4 4
Objective Question
1208 /1208 4.0 1.00
Which purana describes Sri Krisna and Balarama as masters of the art of wrestling ?
(1) Agni Purana
(2) Vishpu Purana
(3) Harivansa Purina
(4) Vayu Purana
Al:1
A2:2
A3:3
Ad:4
Objective Question
1209 /1209 4.0 1.00
In which year the empire of Vijayanagar was established ?
(1) 1236
(2) 1336
(3) 1250
(4) 1350
Al:1
A2:2
A3:3
Ad:4
Objective Question
1210 /1210 4.0 11.00
3/155

file:///D:INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html



7/10/24, 7:41 PM 2_Live_ NCET_ENG_1201-1600.html

Which of the following folk dance forms are originated from Rajasthan ?
(A) Ghumar

(B) Kalbelia

(C) Kathputli

(D) Garba

(E) Dandiya

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

() (B), (O and (D) only

() (). (D) and (E) only

(4) (A), (B) and (D) only

Al:1l
A2:2
A3:3
A4:4

Objective Question

1211 (1211 4.0 [1.00
Match List - I with List - IL
List- I List - II
(A) Kalpa (I)  Exposition of Words
(B) Nirukta (II) Astronomy
(C) Jyotisa (IlI) Social Thoughts
(D) AlamkaraCtra (IV) Study of Figures of speed

Choose the correct answer from the options given below :
(1) (A1), (B)-(), (O)-1V), (D))

2 (A)-Im), (B)-(I), (©-(11), (D)-(IV)

(@) (A, (B)-(1V), (O(1), (D)-(ID)

(4)  (A)-IV), (B)(LL), (CO)-(1L), (D)~(I)

Al:1

A2:2

A3:3

A4:4

Objective Question
1212 /1212 4.0 |1.00

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 4/155



7/10/24, 7:41 PM

2_Live_NCET_ENG_1201-1600.html

Manusmriti mentions fishes :

(A) Rohu
(B) Pathen
(C) Jhinga
(D) Padin

(E) Jelly Fish

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (D) and (E) only

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1213 1213

Who is the appointing authority of Advocate-General for the State ?

(1) President
(2) Prime Minister
(3)  Chief Minister
(4) Governor

Al:1
A2:2
A3:3

A4:4

Objective Question

1214 1214

The Judiciary in India derives its powers and functions from :

(1) Parliament

(2) Supreme Court of India
(3) Constitution of India
(4) President

Al:1
A2:2
A3:3

A4:4
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Objective Question

1215 1215

Which of the following Article of the Constitution deals with the advisory jurisdiction of the Supreme

Court of India ?
(1) Article 142
) Article 143
(3) Article 144
(4)  Article 145
Al:1

A2:2

A3:3

Ad:4

Objective Question

1216 1216

is a transfer of right to enjoy a property for a specific period of time in consideration

for a price.

(1) Exchange
(2) Gift

(3) Lease

(4) Sale

Al:1

A2:2

A3:3

A4 4

Objective Question

1217 1217

Arrange the following as per the Indian Contract Act, 1872 -

(A) Acceptance
(B) Offer

(C) Consideration
(D) Contract

(E) Performance

Choose the correct answer from the options given below :

1) (A), (B), (©), (D), (B)
(2 (B). (A), (©), D), (E)
@) (B), (A), (D), (O), (E)
@) (A), (B), (D). () (E)
Al:1
A2:2
A3:3
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A4:4

Objective Question

1218 1218 4.0 |1.00
Match List - I with List - IL
List - I List - II
(A) Novation (I)  Acceptance to a lesser fulfilment of the promise
(B) Rescission (II) Certain terms of a contract are cancelled
(C) Remission (IlT) Abandon of mutual rights
(D) Waiver (IV) New contract is substituted for an old one

Choose the correct answer from the options given below :
(L) (A)(D), (B)}-(II), (O)(I), (D)-(IV)
(2 (AHIV), (B)D), (C)-(ID), (D)-(IM)
(3 (A)HIV), (B)-(ID), (CO)-(D), (D)-(1M)
(4)  (A)-(ID), (B)-(1D), (C)-(I), (D)-(IV)

Al:1
A2:2
A3:3
Ad:4

Objective Question

1219 /1219 4.0 1.00
In which of the following tort, intention or carelessness of the defendant is not taken into

consideration ?

(1) Negligence
(2) Battery

(3) Assault

(4)  Strict Liability

Al:1
A2:2
A3:3
A4d:4

Objective Question
1220 /1220 4.0 |1.00
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Find the correct ascending order of stages of crime.
(A) Commission

(B) Attempt

(C) Preparation

(D) Intention

(E) Punishment

Choose the correct answer from the options given below :

1) (A), (B), (©), (D), (B)
(2 B, (A), ©), D), (B)
@) (©). (B), (A), (D), (E)
(4) (D) (Q), (B), (A), (E)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1221 1221

Match List - I with List - I1.

List - I List - II
(A) Retribution (I)  repair the injury
(B) Deterrence () to prevent the fepeati.ng of the crime
(C) Rehabilitation (IIT) Righting of Balance
(D) Restoration (IV) Transforming the offender

Choose the correct answer from the options given below :

(1) (A, (B)-(1V), (O)-(D), (D)-(D)
(2 (A)-(I), (B)-(T), (C-(IV), (D)-(ID)
(@) (A)HD, (B)-(ID), (C)-(IV), (D)1
@) (A, (B)(I1), (O)-(V), (D)-()
Al:1
A2:2

A3:3

A4:4

Objective Question

1222 1222

The term ‘Ombudsman’ means :
(1) Principal

(2) Agent

(3) President

(4) Representative

Al:1
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A2:2

A3:3

Ad:4

Objective Question

1223 11223

Which provision of the Civil Procedure Code, 1908 deals with Mediation and Conciliation ?
Section 88
Section 89
Section 90
Section 91

(L
(2)
)
(4)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1224 1224

Which of the following Constitutional Amendment deals with the “tribunalisation of Indian

Judiciary” ?

(L)
@)
€)
(4)

Al:1

A2:2

A3:3

A4:4

Objective Question

1225 11225

24t Constitutional Amendment Act
25t Constitutional Amendment Act
4274 Consttutional Amendment Act
44™ Constitutional Amendment Act

2_Live_NCET_ENG_1201-1600.html

Which of the following is not a fundamental duty under Article 51 A ?

(A)
(B)
(©
(D)
(E)

Respect the Constitution
Defend the Country

Duty to Vote

Duty to Pay income tax
Develop Scientific temper

Choose the correct answer from the options given below :

(L
2
)
)

(©), (D), (E) Only
(C) and (D) Only
(B) and (C) Only
(D) and (E) Only
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Al:1

A2:2
A3:3
A4:4

Objective Question
1226 1226 4.0 |/1.00
Which of the following is correct ?

(A) Article 51 of the constitution deals with promotion of International Peace and Security

(B) Article 253 of the constitution gives power to parliament to implement international treaties
(C) Article 18 of the constitution deals with abolition of untouchability

(D) Article 24 deals with right to education

(E) Article 14 deals with right to life

Choose the correct answer from the options given below :

(1) (A), (B), (D) Only

() (A), (C), () Only

(3) (B), () Only

(4) (A), (B) Only

Al:1
A2:2
A3:3
A4:4

Objective Question
1227 1227 4.0 11.00
Which of the following is incorrect about fundamental rights ?

(A) Part II of the Constitution deals with Fundamental Rights

(B) Fundamental Rights are enforceable against the State

(C) Articles 36 to 51 deals with Fundamental Rights

(D) Article 13 elevates the authority of Fundamental Rights

(E) Under Art. 32 writ can be filed if Fundamental Rights are violated
Choose the correct answer from the options given below :

(1) (B) and (C) Only

(2) (A) and (C) Only

(3) (D) and (E) Only

(4) (A) and (E) Only

Al:1
A2:2
A3:3

A4 :4
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Objective Question
1228 /1228 4.0 1.00
The designation of an advocate as a senior advocate is responsibility of

(A) Supreme Court

(B) High Court

(C) Bar Council of India

(D) Legal Education Committee

(E) Attorney-General

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (A)and (E) Only

(3) (A) and (B) Only

(4) (B) and (D) Only

Al:1
A2:2
A3:3
A4 4

Objective Question

1229 (1229 4.0 [1.00
Match List - I with List - IL
List - I List - II
Countries Mode of Advertisement
(A) India (I)  Print Media
(B) USA (II)  Allowed within the Legal Profession (Publicity Rules) 2001
(C©) Malaysia () 5 Piece information website
(D) Hong Kong (IV) Business cards and Internet forums

Choose the correct answer from the options given below :

(1) (A1), B)-(1D, (O-0), (D-(IV)
(2) (A, (B)-(1V), (O)-(1), (D)-(D)
(@) (A1), (B)-(1), (©)-(I), (D)-(I1)
@) (A)D, (By-(I), (OH1V), (D)-(0)
Al:1
A2:2
A3:3

A4 4

Objective Question

1230 1230 4.0 [1.00
In which year Article 39-A was inserted in the Constitution of India ?
(1) 1974
(2) 1976
(3) 1977
(4) 1978
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Al:1l
A2:2
A3:3
Ad: 4

Objective Question

1231 1231 4.0 1.00
When the Committee on National Implementation of Legal Aid under Justice Bhagwati was

constituted ?
(1) 1973
(2) 1980
(3) 1987
(4) 1888

Al:1
A2:2
A3:3
Ad 4

Objective Question

1232 /1232 4.0 1.00
Which of the following case provided clarity on what procedure means under Article 21 of the

Constitution ?

(1) M.H. Hoskot V State of Maharashtra
(2) Tara Singh V State of Rajasthan

(3) Maneka Gandhi V Union of India
(4) Maganbhai Patel V Union of India

Al:1
A2:2
A3:3
Ad 4

Objective Question
1233 /1233 4.0 1.00
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Which of the following is incorrect ?

(A) WHO was set up in 1948

(B)  Article 38 of the UN Charter deals with sources of International law
(C) League of Nations came into existence in 1919

(D) United Nations came into existence in 1946

(E) UNESCO formed in 1945

Choose the correct answer from the options given below :
(1) (B), (D) Only

(2} (A), (B) Only

) (D), (E) Only

4 (©), (E) Only

Al:1
A2:2
A3:3
A4:4

Objective Question

1234 1234 4.0 |1.00

Match List - I with List - IL

List - I List - II
(A) ICC was setup through (I)  Human rights are universal

and inter dependent

(B) General Assembly of the UN, enacted the (I) Right to social security

statute of
(©) Vienna Declaration and Programme of Action (IIIy Rome Statute
(D) Universal Declaration of Human Rights vy 1

Choose the correct answer from the options given below :
M (A)-IV), (B)(1), (C)-(II), (D)-(ID)
(2) (A, (B)-(D), (CR(IT), (D)-(IV)
(3) (A, B)-(I), (CO)-(1V), (D)-(IM)
(4) (A1), (B)-(1V), (O)-(I), (D)-(I)

Al:1
A2:2
A3:3
Ad:4

Objective Question

1235 1235 4.0 [1.00
Private International Law often referred to as :

(1) International Law
(2) Municipal Law
(3) Conflict of Laws
(4) Supreme Law
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Al:1

A2:2

A3:3

A4:4

Objective Question

1236 (/1236

Match List - I with List - IL

List - I List - IT
(A) Res lpsa loquitor (I) By the way
(B) Quid pro quo (I)y Something in return
(C) Obiter dicta (ITI) Things speaks itself
(D) Amicus Curiae (IV) Friend of court

Choose the correct answer from the optlions given below :

(L) (AHAD, (B(IL), (O)(ILD), (D)-(IV)
(2  (A)-(I), (B)-(ID, (C)-(I), (D)-(IV)
@) (A1), B)-(D), [©)-1), (D)-(IV)
@) (AHLV), (B)(L), (C)(I), (D)-(IL)
Al:1
A2:2

A3:3

A4 4

Objective Question

1237 1237

The maxim Caveat Emptor means :
(1) Seller beware

(2) Buyer beware

(3) Business man beware

(4) Manufacturer beware

Al:1
A2:2
A3:3

A4:4

Objective Question

1238 /1238
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Find the correct ascending order of the following Acts/Institution.

(A) The Advocates Act
(B) Legal Practitioner’s (Women) Act, XXIII
(C) Mayor's Courts

(D) Indian Bar Councils Act on Chamier Committee Recommendations

(E) Supreme Court of Judicature at Calcutta

Choose the correct answer from the options given below :
(1) (A (B), (©), (D), (E)

(2)  (©), (E) (B), (D), (A)

(3)  (A), (B), (D), (C), (E)

4 (©), (B) (A), (D), (E)

Al: 1

A2:2

A3:3

Ad:4

Objective Question

1239 1239

Find the correct ascending order of the following
Directive Principles of State Policy (DPSP)

(A) Protection to children against exploitation

(B) Uniform Civil Code

(C) Separation of the judiciary from the executive

(D) Promotion of International Peace and Security

(E) Equal pay for equal work for both man and women

Choose the correct answer from the options given below :

@ (B, (A), B), (©), D)
2 (A), (B), (©), (D) ()
Gy B, (A), B), (D), (O
@ (B, (B) (D), (O), (A)
Al:1
A2:2

A3:3

A4:4

Objective Question

1240 | 1240
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Which of the following are Crimes Against Property ?
(A) Dacoity

(B) Robbery

(C) Counterfeiting

(D) Theft

(E) Burglary

Choose the correct answer from the options given below :
(1) (A), (B), (O), (D) Only

(20 (A), (B), (D), (E) Only

@) (A), (B), (E) Only

(4) (B), (©), (D), (E) Only

Al:1
A2:2
A3:3
A4:4

Objective Question

1241 1241 4.0
Which was the first soap opera to be telecast on Indian Television ?

(1) Buniyaad
(2) Hum Panch
(3) Hum Log
(4) Shanti

1.00

Al:1
A2:2
A3:3
Ad:4

Objective Question
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1242 1242 40 100
What is the primary characteristic of mass communication ?
(1)  Bi-directional communication
(2) Limited Reach to a specific audience
(3)  Uni-directional Communication to a large audience
(4) Private and informal communication
Al:1
A2:2
A3:3
A4 4
Objective Question
1243 1243 4.0 1/1.00
All marketing activities that attempt to stimulate quick buyer action or immediate sales of a product
is known as :
(1) Sponsorship
(2) Advertising
(3) Personal Selling
(4) Sales Promotion
Al:1
A2:2
A3:3
A4 4
Objective Question
1244 1244 4.0 1/1.00
The is principally designed to convert the optical image, as projected by the lens, into an
electric signal often called the video signal.
(1) Video tape recorder
(2) Microphone
(3) Camera
(4) Disc
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 [1.00

1245 1245
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‘The Guardian’ newspaper is an example of which type of newspaper format ?
(1) Berliner
(2) Broadsheet
(3) Tabloid
(4) Free
Al:1
A2:2
A3:3

Ad:4

Objective Question

1246 1246 4.0 1.00
Identify the characteristic of a good radio script :
(1) Use of jargons
(2) Conversational language
(3) Passive voice
(4) Complex sentences
Al:1
A2:2
A3:3
A4:4
Objective Question
1247 1247 - 4.0 |1.00
“It is the woman who is capable of playing the more effective role in the preservation of society
and therefore, that had to be respected”.
The above statement was made by the Supreme Court (1985) in the case of :
(1) State of Punjab Vs Sandhu Singh
(2) State of Bengal Vs Sunoj Chatterjee
(3) State of Bihar Vs Manoj Kumar
(4) State of Delhi Vs Laxman Kumar
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 [1.00

1248 11248
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Which of these is NOT a type of film shooting budget ?
(1) Contingent

(2) Middle line

(3) Above the line

(4) Below the line

Al:1
A2:2
A3:3
Ad:4

Objective Question
1249 1249 4.0 1.00

The conceptof introducing social messages in regular soap operas in Indian Television was borrowed
from which country ?

(1) Mexico

(2) Argentina

(3) USA
(4) UK

Al:1
A2:2
A3:3
A4:4

Objective Question
1250 /1250 4.0 11.00
Which of type of reporting is agenda driven or biased towards a particular political party ?

(1) Investigative Reporting
) Plagiarism
(3) Partisan Reporting

) Sensationalism

Objective Question
1251 /1251 4.0 |1.00
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The study of touch in non-verbal communication is known as :
(1) Chronemics
) Oculesics
(3) Kinesics
) Haptics

A2:2
A3:3
Ad:4

Objective Question
1252 /1252 4.0 1.00
is involved in the convergence of all the mass media.

(1) Television
(2) Newspaper
(3) Radio

(4) Internet

Al:1
A2:2
A3:3
Ad:4

Objective Question
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1253 /1253 4.0 [1.00
Identify the correct sequence of the films released in India beginning from the first.

(A) Sholay

(B) DDL] (Dilwale Dulhaniya Le Jayenge)

(C) Raja Harishchandra

(D) Pather Panchali

(E) Alam Ara

Choose the correct answer from the options given below :
@ (A), (B), (©), (D), (E)

2 (©). (B) (D), (A), (B)

@) (B)- (D), (A) (©), (B)

(4) (D). (B), Q). (A), (B)

Al:1
A2:2
A3:3
A4 4

Objective Question

1254 1254 4.0 [1.00
What are the two primary factors influencing media selection for advertising ?

(1) Brand identity and loyalty
(2
(3) Production quality and frequency
(4)

Budget and target audience reach
Advertising needs and convergence
Al:1

A2:2

A3:3

Ad: 4

Objective Question

1255 11255 4.0 11.00
The term of ‘Global Village” was coined by :

(1) Denis McQuail

(2) Marshall McLuhan
(3) Maxwell McCombs
(4) Donald Shaw

Al:1
A2:2
A3:3

Ad: 4
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Objective Question

1256 1256 4.0 11.00
Arrange in correct sequence the stages involved in film production :

(A) Picture Positive (Rushes)

(B) Release Print

(C) Rough Cut

(D) Lab Receives Exposed Film

(E) Picture Negalive

Choose the correct answer from the options given below :
1) (A), B), ©, ) )

(2> (D), (B), (A), (©), (B)

@) (B), (D), (B), (A), (O)

4) (A), (D), (C), (E), (B)

Al:1
A2:2
A3:3
A4:4

Objective Question

1257 ||1257 4.0 1.00
Arrange in correct sequence the steps involved in conducting a cyber crime investigation :

(A) Collection of digital evidence

(B) Identification of the crime

(C) Analysis of the evidence

(D) Reporting the findings

Choose the correct answer from the options given below :
1 (A, ©), (B) (D)

2 (B), (A), (C) (D)

@) (&) B),(©), (D)

4 (©), (A), (B), (D)

Al:1
A2:2
A3:3
A4:4

Objective Question
1258 | 1258 4.0 1.00
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Identify the correct sequence of the follcwmg newspapers on the basis of their origin.

(A) Bombay Darpan

(B) Bombay Samachar

(C) Bengal Gazette
(D) Bombay Courier

Choose the correct answer from the options given below :

1 (B, (C) (D), (A)
2 (©, D) B) (A
3) (D) (©), (A), (B)
4 (A), (B), (©), (D)
Al:1
A2:2

A3:3

A4 4

Objective Question

1259 /1259

Which among the following are stages of Interpersonal Communication ?

(A) Shooting Stage
(B) Scripting Stage
(C) Intimate Stage
(D) Phatic Stage

(E) Mass Communication Stage

Choose the correct answer from the optlions given below :

(1) (C) and (D) only
(2) (D) and (E) only
(3) (D) only

(4) (A) and (B) only
Al:1

A2:2

A3:3

A4 : 4

Objective Question

1260 /1260
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Which of the following options describe the qualities/skills for a radio producer ?
(A) He/she should be inquisitive

(B) He/she should be a good observer to get ideas

(C) He/she should have good table manners

(D) He/she should be creative

(E) He/she should have the ability to use words/jargon which are difficult to understand
Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

() (A), (B) and (D) only

(3) (B), (C) and (E) only

(4) (B), (O) and (D) only

Al:1
A2:2
A3:3
A4:4

Objective Question

1261 1261
Advertising is needed because :

(A) It does not distinguish a product from its competitors
(B) It reminds the people to stick to a product

(C) It can not create brand loyalty

(D) It informs about product details in advance

(E) It decreases the buzz about the product

Choose the correct answer from the options given below :
(1) (A)and (C) only

(2) (C) and (E) only

(3) (A)and (D) only

(4)  (B) and (D) only

Al:1
A2:2
A3:3
A4d:4

Objective Question
1262 /1262
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Identify the option which has all news agencies listed together.
(A) PTI, DNA, UNO

(B) UPI, AP, Reuters

(C) TASS, Reuters, DPA

(D) AP, UNI, AFP

(E) KYC, ABP, CBA

Choose the correct answer from the options given below :
(1) (A), (C) and () only

(2) (B, () and (D) only

() (©), (D) and (E) only

(4) (A), (B) and (D) only

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1263 1263

Arrange in correct sequence the following events :
(A) Vietmam War

(B) Persian Gulf War

(C) Kargil War

(D) Disintegration of USSR

(E) World War I

Choose the correct answer from the options given below :
(1 (B, (A), (D), (B), (C)

2 (A, (B), B), (O). (D)

3)  (B), (O (B), (A), (D)

4) (B). (A) ©). (B), (D)

Al: 1
A2:2
A3:3

A4:4

Objective Question

1264 1264
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Arrange in correct ch_mnologica_l sequence the events listed below from the first.

(A) First newspaper ‘Public Occurrences” by USA.

(B) First modern advertising agency in the World by N.W. Ayer.
(C) First newspaper in India ‘Bengal Gazette’ by James Hickey.
(D) First formal radio station in Bombay.

(E)  First Indian talkie film 'Alam Ara’.

Choose the correct answer from the options given below :

1) A) (©), B), (D) (B)

2  (©. (&) B), D) B

@) O) (E) (A) (©) (B)

@) (B). (D), (). (A), (E)

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1265 1265

Match List - I with List - 11

List - I List - I
Theory Theorist
(A) Agenda Setting (I) Paul Lazarsfeld
(B) Two-step Flow (I) MecCombs and Shaw
(©) Magic Bullet () Elihu Katz and Blumler Jay

(D) Uses and Gratifications (IV) Harold Laswell
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(LV), (O)-(1), (D)-(ID)
@ A1), B)-0), (OA1V), (D))
(3)  (A)-(IV), (B)-{L), (O)11), (D)-(0)
@ (AHD, (BHI), (O-(IM), (D)-(IV)
Al:1
A2:2

A3:3

A4 :4

Objective Question

1266 /1266
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Match List - I with List - I1.

List - I
(A) Station Director ()
(B) Radio Presenter (1)
(C) Lionel Fielden (1)
(D) Radio Producer (IV)

2_Live_NCET_ENG_1201-1600.html

List - II

Heads the program
Director General of AIR
Weather and traffic news
Station Manager

Choose the correct answer from the options given below :

@) (AHIV), (B)(1D), (O)-(1), (D))
(2 (A1), (B)-(I0D), (O)-(1D), (D)-(D)
3)  (A)IV), (B)-(II), (C)-(I1D), (D)-(D)
(4)  (A)-(IV), (B)-(1), (C)-(IT), (D)~(ILT)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1267 1267

Match List - I with List - 11

List - I
(A) Facebook (I)
(B) Instagram (1)
(C) LinkedIn (HI)
(D) YouTube (IV)

List - II

Sharing short videos and following creators
Long form content and professional networking
Social networking site to connect with family, friends and

people online

Photos and videos sharing with a focus on aesthetics

Choose the correct answer from the options given below :

(1) (AIV), (B)-(1D), (O)-(T), (D)~(I1L)
(2} (A)-(I), (B)-(IV), (O)(1D), (D)-(D)
@) (A1), B)-(D), ©)-0), (D)-(1V)
@) (AD, (BR(IV), (C)(I), (D)-(IL)
Al:1
A2:2

A3:3

A4:4

Objective Question

1268 /1268
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Match List - I with List - I1.

List - I List - II
(A) Lumiere Brothers (I)  Father of Documentary
(B) John Grierson ()  American film Maker
(C) Dada Saheb Phalke (IIT) Father of Cinema
(D) Robert Flaharty (IV) Raja Harishchandra

Choose the correct answer from the options given below :
(1) (A)D), (B}-(ID), (O)-(IL), (D)-(IV)
(2 (A)AIV), (B)(IL), (C)-(1D), (D)-(I)
@) (A, (B)-(D), (C-(IV), (D)-(ID)
(4)  (A)-IV), (B)ID), (O)-(I), (D)-(IL)

Al:1
A2:2
A3:3
A4:4

Objective Question
1269 1269 Question no. 1 to 10 are Mandatory

3
HA={
4

4.0 1.00

} and A2=KkA — 21, , for some number k, then k is equal to :
iy =1

(2 1

@ 2

4 -2

Al:1

A2:2

A3:3

A4 4

Objective Question

1270 1270 Question no. 1 to 10 are Mandatory

If Ay, 5 be a matrix such that det (A)=2% and det (adj (2A)) =28 then a is equal to :

4.0 |/1.00

(1 o
2 1
@) 2
(4) 3
Al:1
A2:2
A3:3
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Ad:4

Objective Question

1271 11271 Question no. 1 to 10 are Mandatory 4.0 100

If the slope of the tangent to curve 2}f2='.1x2+b at (1, —1) is —1, then the values of a and b are :
(1) a=2,b=0

(2) a=0b=2

(3) a=2 b=-1

4) a=-1,b=1

Al:1l
A2:2
A3:3
Ad:4

Objective Question

1272 1272 Question no. 1 to 10 are Mandatory 4.0 1.00

The interval in which fix) =2r7—0x2 4+ 12x +15 is increasing, is :
M) (- Do =)

@ (L2

B (—% %

@) (—=; —Hu@E, =)

Al:1
A2:2
A3:3
A4 4

Objective Question

1273 11273 Question no. 1 to 10 are Mandatory 4.0 /100

i 3 X 2 b
It .[(9 + 3 ) Hi =B + a,then a+bis equal to:
2 5 log, b®

—
o
Rl R &) e
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Objective Question

2_Live_NCET_ENG_1201-1600.html

1274 11274 Question no. 1 to 10 are Mandatory

The solution of the differential equation ﬁ =/ 4 yoe, is:

1)

)

Al:1
A2:2
A3:3
Ad:4

Objective Question

2 _—x
dy

3
x , .
e/ = e* + —— + C, where C is an arbitrary constant

3
, 1
o =¥ + L 4 C, where C is an arbitrary constant

e*=eV+C, where C is an arbitrary constant

2
. 1 ; ;
o o ¢ % + C = 0, where C is an arbilrary constant

1275 1275 Question no. 1 to 10 are Mandatory

d
Consider the differential equation y = Px + Ja?P? + b%, where P = é Then the order and

degree of the differential equation are :

03]
(2)
)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question

order 2, degree 1
order 1, degree 2
order 2, degree 2
order 1, degree 1

1276 11276 Question no. 1 to 10 are Mandatory

In a Binomial distribution, for n = 2, 0 < p <1, which of the following is correct ?

(L
(2)
©)
(4)

Al:1

A2:2

mean > varlance
mean < variance
mean = variance

(mean)? = variance
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A3:3
A4:4

Objective Question

1277 1277 Question no. 1 to 10 are Mandatory 4.0 100

Two dice are thrown simultaneously. If X denotes the number of sixes obtained, then the expectation
of Xis:

(L)

—
N
S = W W= Wk

A4 4

Objective Question

1278 1278 Question no. 1 to 10 are Mandatory
If Z=6x+4y subjecttox = 2, x+y =3, —2vx+y=1,x = 0,y = 0, then the maximum value of the
objective function Z is attained at the point :

o (53)
@ @

G 20
@ ©0

4.0 1.00

Al:1
A2:2
A3:3
Ad:4

Objective Question

1279 1279 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
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The function f: R — R, defined by, flx)=e ™ "is :
(1) one-one and onto and f~!(x)= — log x

(2) one-one but not onto

(3) neither one-one nor onto

(4) onto but not one-one

Al:1
A2:2
A3:3
Ad:4

Objective Question

1280 1280 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

For principal value branch, if cos™! [g] — gin™? [%) =cos ' (x), then x is equal to :

(1)

—
K5
= Ml'_\ =

Objective Question
1281 1281 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

1 3 2|1
If [1x1] |2 5 1|]|2|=0, then one of the values of x is :

15 3 2 |x

4.0 |/1.00

® -2
2 -1
G 4
@) 14

Al:1
A2:2
A3:3

A4:4
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Objective Question

1282 1282 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
The system of linear equations
5x+10y+3z=0
—2x—4dy+6z=0
kr—2y+z=0
has infinite number of solutions, then value of k is ;
n -1
@ 1
(@) 0
@ 2
Al: 1
A2:2
A3:3
Ad:4
Objective Question
1283 11283 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Let A and B be matrices of order 3 x3 such that A #B. If A>=B? and A?B= BEA, then determinant
of (A%2+ B?) is equal to :
Iy 0
2 1
@ -1
(4 2
Al:1
A2:2
A3:3
A4 :4
Objective Question
1284 1284 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Let f{x) be a polynomial of degree 4, such that, f{0)=0, 1)=2, (2)= —4, and f(3) =6, then the
minimum number of zeroes of f{x) lying in the interval [0, 3] is :
H 1
2 2
@) 3
(4) 4
Al:1
A2:2
A3:3
33/155
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A4:4

Objective Question

1285 1285 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
The equation of normal to the curve y=sinr at the point (m, 0) is :
() x+y=m
(2) x+y+w=0
@) x—-y=mw
4 x—y+mw=0
Al:1
A2:2
A3:3
A4:4
Objective Question
1286 1286 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
The function f(x) = ; x > 1, strictly increases in the interval :
log, x
1) (1 e)
@ @ =)
G) (e =)
@ (Le
Al:1
A2:2
A3:3
A4 : 4
Objective Question
1287 11287 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

If f'(x)= 322 — % and f{1)=0, then f{x) is equal to :

1

M ©L+-=-2
2

(2) x3+i2+2
X
3 1

3 - +2
(3) >
3 1

4 i
@ =i

Al:1
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A2:2
A3:3
A4:4

Objective Question

1288 1288 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
- sinx
I ————dx isequal to:
* l4sin“x
™
1 =
) 2w
@) =
4 0
Al:1
A2:2
A3:3
A4 4
Objective Question
1289 1289 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
The area of the larger region bounded by the circle _1‘2+y2=4 and the line x + y=—2is:
(1) (m—2) sq. units
(2) (mw+2) sq. units
1 .
(3) 3m — — | sq. units
2
(4) (3w +2) sq. units
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 /1.00

1290 /1290 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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; ; : d ;
The Integrating factor of the differential equation (:r + 2y2} _d% = 1t 18
() !
x
i
@y
3 —_——
@ -
1
@
Al:1
A2:2
A3:3
A4 4
Objective Question
1291 11291 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Differential equation of the family of circles touching the x-axis at the origin, is :

1 (22 —yz}ﬂ=2x

dx
@ (@ +y?) j—i" =2y
@ -y L2y
@ (6 +y?) L2
Al:1
A2:2
A3:3
Ad 4
Objective Question
1292 1292 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Lf|ah+ ]:;|:5 and |a¢—t:|=3; then a)-bh is equal to :

(1 2
@2 3
(8) 4
@) 5
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Al:1

A2:2
A3:3
A4:4

Objective Question

1293 11293 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00

Let a, b,c be three vectors, then which one of the following is incorrect ?

SRR R

- =)= = (5 =
(2) axb}-c=a-[b><c

= = = = = =
) a b c|=|c a b
(=5 = = =

(4) a b c|=0if -3

Al:1

A2:2

A3:3

Ad: 4
Objective Question
1294 11294 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

The Cartesian equation of a line is x=py+q, z=ry +s. The direction ratios of this line are :
M prs

(2) pal.r
@) Lsgq
4 ps1
Al:1

A2:2

A3:3

A4 :4

Objective Question

1295 1295 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
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For the following LPP :

Maximize Z=23x+ 6y

subject to 3x—4y+1220, 2x—y+2=20and 2x+3y—-12 =2 0,0 = x =4 and y = 2 has its ophi-
mal feasible solution at the point :

1) @ o)
@ G2

4 18
(3) {gf B
4 G 8

Al:1

A3:3
A4 4

Objective Question

1296 1296 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

9 7
The respective probabilities of two students A and B solving a problem are 10 and 10 The
probability that atleast one of them solve the problem is :

49
(&

5 97
@) 100

24
&

19
@ 5

Al:1

A3:3
A4:4

Objective Question

1297 11297 Question no. 1 to 10 are Mandatory 4.0 1.00

3 =2
If A= L 2} and A2=KkA - 21, , , for some number k, then k is equal to :
 n -1
2 1
@ 2
4 -2
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Al:1

A2:2

A3:3

A4 :4

Objective Question

1298 |/1298

Question no. 1 to 10 are Mandatory

If A;, 3 be a matrix such that det (A)=2% and det (adj (2A)) =28 then a is equal to :

@ o
2 1
@) 2
@ 3
Al:1
A2:2

A3:3

Ad: 4

Objective Question

1299 /1299

Question no. 1 to 10 are Mandatory

If the slope of the tangent to curve 2}f2='.1x2+b at (1, —1) is —1, then the values of a and b are :

(1) a=2 b=0
(2) a=0,b=2
(B) a=2 b=-1
@) a=-1b=1
Al:1

A2:2

A3:3

A4 :4

Objective Question

1300 /1300

Question no. 1 to 10 are Mandatory

2_Live_NCET_ENG_1201-1600.html

The interval in which fix) =2r7—0x2 4+ 12x +15 is increasing, is :

@ (==, Du2, =)
@ &2

& (—%. 2

@ (==, =Du =)

Al:1

A2:2
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A3:3
A4:4

Objective Question

1301 /1301 Question no. 1 to 10 are Mandatory 4.0 100

b
+ a,then a+bis equal to :

2
If ](9‘ + 3%) i = B
;& log, b°

1)
2
(3)
)

MO o=1 Ul W

Al:1
A2:2
A3:3
Ad:4

Objective Question

1302 1302 Question no. 1 to 10 are Mandatory 4.0 100

The solution of the differential equation E = 4 yz e ©,is;

dy
3
: X g .
(1) e =e" + = + C, where C is an arbitrary constant

3
, 1
(2 e =& + A C, where C is an arbitrary constant

e

(3) e‘=e¥+C, where C is an arbitrary constant

2
, i 2 ;
@ e +e¥+ % + C = 0, where C is an arbitrary constant

Al:1
A2:2
A3:3
Ad 4

Objective Question

1303 1303 Question no. 1 to 10 are Mandatory 4.0 /1.00
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d
Consider the differential equation y=Px+ Ja?P? + b2, where P = ﬁ Then the order and

degree of the differential equation are :
(1) order 2, degree 1
(2) order1, degree 2
(3) order 2, degree 2
(4) order 1, degree 1

Al:1
A2:2
A3:3
Ad 4

Objective Question
1304 1304 Question no. 1 to 10 are Mandatory 4.0 1.00

In a Binomial distribution, for n = 2, 0 < p <1, which of the following is correct ?
(1) mean > variance

(2) mean < variance

(3) mean=variance

(4) (mean)?=variance

Al:1

A2:2

A3:3

A4 :4

Objective Question

1305 1305 Question no. 1 to 10 are Mandatory 4.0 /1.00
Two dice are thrown simultaneously. If X denotes the number of sixes obtained, then the expectation
of Xis:

i 2
M 3
> 1
@ 3
4
3 =
@ 5
i 1
@ -
Al:1
A2:2
A3:3
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A4:4

Objective Question

1306 1306 Question no. 1 to 10 are Mandatory 4.0 1.00
If Z=6x+4y subjecttox =2, x+y =3, —2x+y=1,x = 0,y = 0, then the maximum value of the
objective function Z is attained at the point :

y (22)
(0 L3 "3
@ &1
@ &0
4) (0, 0
Al:1
A2:2
A3:3
A4 :4

Objective Question

1307 1307 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
For m > 0, if 247 = —5 (mod k), then the number of such possible k’s, is :

1 15
) 16
@) 17
() 18
Al:1
A2:2
A3:3
Ad -4

Objective Question

4.0 1.00

1308 /1308 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Two pipes A and B can fill a tank in 20 minutes and 30 minutes respectively and pipe C can empty
the full tank in 40 minutes. If all the three pipes are opened together, time needed to make the tank
full, is :

1
(1) 175 minutes

1
2 13 = minutes

o
(3) 1'5—"7' minutes

ot

(4) 19? minutes
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A2:2
A3:3
A4 4

Objective Question
1309 1309 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

2x+4
(1 (-, 3]
2 @3]
@ (3]
@ [3 =)

4.0 1.00

If

=5, then x lies in the interval :

Al:1

A3:3
Ad:4

Objective Question

1310 /1310 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

A mixture contains milk and water in the ratio 3 : 2. If 4 L of water is added to the mixture, the
quantity of milk and water in the mixture become equal, then the quantity of milk in the inital
mixture (in L) is :

(I 8L

2 1ZL
(3) 1L
(4) 20L
Al:1

A2:2

A3:3

A4 4

Objective Question

1311 1311 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 /100
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T: 1 3 — 0 1 Tz e
If A _— and B 5 B , then (A +2B)" is equal to :

M =1
¥ g s
fi |t
@ a5
i
B -4 5}
4 1
@ |1 5}
Al:1
A2:2
A3:3
Ad:4

Objective Question

1312 1312 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

gl & 7 e thevalne st Gr—1) 4

= , then the value of (3x—1) 15 :
5y 3x+y| |-5 8 (x=y)

(1) 8
2 o
(3) -10
@ 10

Al:1
A2:2
A3:3
A4:4

Objective Question

1313 11313 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

The price per unit of a certain product is given by p =250+ 30x — 22 (in %) where x is the number of
units demanded, then the marginal revenue when 10 units are in demand, is :

(1) 550
) 500
(3) T 650
(4) ¥ 600
Al:1
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A2:2

A3:3

A4:4

Objective Question

1314 /1314 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

If the functon x*—62x2+ ax + 9 attains its maximum value at x=1, then the value of a is :

1)
@
@
(4

)
)
)
Al:1
A2:2
A3:3

A4 :4

Objective Question

1315 1315 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

The random variable X can take three values 0, 1, 2. Given that P(X=0)=P(X=1)=p and
E(X2)=E(X), then value of p is :

0

@)

Objective Question

1316 1316 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

124
128
120
129

o 0 IR N (P L T =

2_Live_NCET_ENG_1201-1600.html
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X 2 3 4
If the mean of the probability distribution P9 0.2 05 K is 3.1, then K is

equal to :
(1) 03
) 0.4
(3) 0.5
) 0.6

A2:2
A3:3
Ad:4

Objective Question

1317 1317 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0

The wholesale price index (price relative) of wheat in 2024 compared to 2015 is 130. If the cost of
wheat is ¥ 15.60 per kg in 2024, then the cost of wheat in 2015 was :

(1) T 10 perkg
(2) T12perkg
(3) T 14 perkg
(4) T 16 per kg

Al:1
A2:2
A3:3
Ad:4

Objective Question

1318 1318 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0

For stratified sampling, which one of the following is correct ?

(1) The population is divided into subgroups based on relevant characteristic.

(2) The population is divided into subgroups but each subgroup has similar characteristic of the
whole population.

(3) Each member of the population is assigned a number and the numbers are chosen at regular
intervals.

(4) Each member of the population has equal chance of being selected.

Al:1
A2:2
A3:3
Ad 4
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Objective Question

1319 1319 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 /100
The central limit theorem states that the sampling distribution of the sample mean approaches a
normal distribution :
(1) As the sample size gets larger.
(2) As the sample size gets smaller.
(3) As the sample size remains constant.
(4) It does not depend upon the sample size.
Al:1
A2:2
A3:3
Ad 4
Objective Question
1320 /1320 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
The sudden rise in the sale of ice-creams in summers is an example of ;
(1) Irregular component of time series
(2) Cyclical component of time series
(3) Seasonal component of ime series
(4) Trend component of time series
Al:1
A2:2
A3:3
A4:4
Objective Question
1321 11321 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
The sum of money needed to invest now, so as to get ¥ 10,000 at the beginning of every month
forever, if the money is worth 6% per annum compounded monthly, is :
(1) ¥2,0050,000
(2) ¥ 2,00,10,000
(3) ¥ 20,10,000
(4) ¥ 20,60,000
Al:1
A2:2
A3:3
Ad 4
Objective Question
47/155
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1322|1322 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Aman buys a car for which he makes down payment of ¥ 1,00,000 and the balance is to be paid in
2 years by monthly instalment of ¥ 25,500 each. If the financer charges 10% rate of interest per
121 24
annum, then the actual price of car is : (Given [E] =0.8 approx.)
(1) 6,12,000
2 % 7,12,000
(3) T 8,12,000
@) %9,12,000
Al:1
A2:2
A3:3
A4:4
Objective Question
1323 11323 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00
If 3x +y=12, x +2y=<10, x=0, y=0, then the corner points of the bounded feasible region are :
_ 14 18
M (00,40, |5 5] (5
14 18
@ 0,00, 012), |55
@) (10, 0), (0, 12), (0, 0), (0, 5)
14 18
@ (05,00, |55/ (10,0
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 1.00

1324 1324 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

If the corner points of the unbounded feasible region of an LPP are (30, 0), (10, 40) and (0, 80).
Then the optimal value of the objective function min Z=10x +4y is equal to :

(1) 180
(2) 260
(3) 320
() 300
Al:1
A2:2

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 48/155



7/10/24, 7:41 PM

A3:3

A4 :4

Objective Question

1325 11325

Question no. 1 to 10 are Mandatory

2_Live_NCET_ENG_1201-1600.html

What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara

Al:1
A2:2
A3:3

A4:4

Objective Question

1326 1326

Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra is :

(1) Tansen

(2) Bharat Muni
(3) Tyagaraja

(4) Birju Maharaj
Al:1

A2:2

A3:3

A4 4

Objective Question

1327 111327

Question no. 1 to 10 are Mandatory

Tala keharwa is used with

(1) Khayal

(2) Bhajan

(3) Dhrupad
(4) Kuchipudi
Al:1

A2:2

A3:3

A4 :4
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Objective Question

1328 /1328 Question no. 1 to 10 are Mandatory
What is Raga in Indian Music ?
(1) A melodic composition
(2) A rhythmic framework

4.0 1.00

(3) A musical instrument
(4)  An element of Tala

Al:1l
A2:2
A3:3
Ad:4

Objective Question

1329 1329 Question no. 1 to 10 are Mandatory 4.0 100

A famous sanskrit playwright :
(1) Munshi Premchand

(2) Kalidasa

(3) Girish Karnad

(4) Rabindra Nath Tagore

Al:1
A2:2
A3:3
A4:4

Objective Question

13301330 Question no. 1 to 10 are Mandatory 4.0 /1.00

Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav

(B) Sampoorna-shadav

(C) Sampoorn-sampoorna

(D) Audav-Audav

(E) Sampoorna-Audav

Choose the correct answer from the options given below :
L) (A) (B), (©), (D), ()

(2) (D), (A), (B), (O), (E)

@) (D) (A), (E), (B), (O)

4) (A), (), (B), (E), (D)

Al:1

A2:2
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A3:3

A4 :4

Objective Question

Question no. 1 to 10 are Mandatory

Rajasthan is famous for following folk dance forms :
(A) Chari

(B) Kal-beliya

(C) Dandiya
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :

1 (B), (D), (C) Only
@  (B), (©) (B) Only
() (A), (B), (D) Only
4 (A), (), (E) Only

Al:1

A2:2

A3:3

A4 :4

Objective Question

13321332 Question no. 1 to 10 are Mandatory

(A)

(B)
(©)

‘Pakhawaj is perceived as having a body of burnt clay.
North Indian ‘Pakhawaj’ is bigger in size than South Indian ‘Mridangam’.
The membrane of Mridangam is softer than that of Pakhawaj.

(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :

(1)
)
3)
(4)
Al:1
A2:2
A3:3

A4 : 4

Objective Question

1333 11333 Question no. 1 to 10 are Mandatory

(A), (B) Only
(A), (B), (C) Only
(A), (B), (O, (D)
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar ()  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III) Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

@) (AL, (BRI, (O)-ILD), (D)-(IV)
2 (A)-(ID, B)-(1), (O~1V), (D)-(1II)
@) (AHD), (BRI, (O-(V), (D)-(I)
(4) (A)-(II), (B)-(I), (O)-(IV), (D)-(IL)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1334 /1334

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II) Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

@) (A, (B)(1), (O)-), (D)-IV)
() (AALV), (B)(ILD), (O)-(ID), (D)-(D)
B)  (A)-(Im), (B)-(1V), (O)-(1D), (D)-(D)
@) (A, (B)-(1), (C(1), (D)-(IV)
Al:1
A2:2

A3:3

Ad 4

Objective Question

1335 /1335

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

In which of the Music style the Kriti, Ragam and Javali are used ?

(1) North Indian Music style
(2) South Indian Music style
(3) Western notation system
(4) Vaidik sangeet
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Al:1

A2:2
A3:3
A4:4

Objective Question

1336 1336 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00

Dhamar Taal has how many beats ?
(1) 10
@ 12
(3) 14
4) 16

Al:1
A2:2
A3:3
A4:4

Objective Question

1337 1337 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which of the following Raga has the usage of both Nishad ?
(1) Alhaiva Bilawal

(2) Yaman

(3) Bhupali

(4) Bhairav

Al:1
A2:2
A3:3
Ad:4

Objective Question

1338 11338 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

The Ragas having Vadi swar among HI S (Sa Re Ga Ma) are called Poorvangvadi Raga. The
Ragas which have their Vadi swara among -9 ¥ 2" (Pa Dha Ni Sa) are called :

(1) Pashchimvadi Raga

(2) Uttrangvadi Raga

(3) Dakshinvadi Raga

(4) Madhyamwadi Raga

Al:1
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A2:2

Ad:4

Objective Question

1339 1339 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Jati of Raga Bhupali is :
(1) Shaadav

(2) Audav

(3) Sampoorna

(4) Sankeern

Al:1
A2:2
A3:3
A4:4

Objective Question

1340 1340 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Most prominent swar of a raga is its :
(1) Vivadi

(2) Anuvadi

(3) Vadi

(4) Samvadi

Al:1
A2:2

A3:3

Objective Question
1341 11341 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
‘Tribhinna’ is a kind of :
(1) Gram
(2) Tana
(3) Varna
(4) Gamak

4.0 |/1.00

Al: 1
A2:2
A3:3
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A4 4

Objective Question

1342 1342 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100

Raga having both (Shuddha and Komal) Nishad :
(1) Bageshri

(2) Malkauns

(3) Bhupali

(4) Alhaiva Bilawal

Al:1
A2:2
A3:3
A4:4

Objective Question

1343 11343 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100

Dagur Bani is related to :
(1) Tarana

(2) Krit

(3) Dhrupad

(4) Thumri

Al:1
A2:2
A3:3
Ad 4

Objective Question

1344 1344 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Arrange the following Talas according to their matras in ascending order.
(A) Dhamar

(B) Teental

(C) Jhaptal

(D) Roopak

(E) Ektal

Choose the correct answer from the options given below :
(1) (D) (O (E), (A), (B)

(2 (A), (B), (©), (D) (E)

@) (B, (D), (), (B), (A)

“) (©), (B), (D) (E) (A)

Al:1

A2:2
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A3:3

A4:4

Objective Question

1345 1345 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Arrange the following according to their year of birth in ascending order.
(A) Purandardas
(B) Thyagraj
(C) Ravindra Nath Tagore
(D) Kazi Nazrul Islam
1) (B (©. (A), (D)
@ (©), (B) (A), (D)
@ (A, ®), (© (D)
4 (D) (©, ®), (@A)
Al:1
A2:2
A3:3
A4:4
Objective Question
1346 1346 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Arrange the following Talas according to the number of matras (in descending order).
(A) Ektal
(B) Rupak
(C) Dadra
(D) Teental
(E) Keharwa
Choose the correct answer from the options given below :
(L (A), (B), (D), (O), (E)
@ (© (B, (), (4), D)
(3) (D). (A), (E), (B), (O)
#) (©), (A), (B), (B), (D)
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 ||1.00

1347 11347 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Choose the correct statements :

(A) Mushtaq Ali Khan was a famous sitar player.

(B) Omkar Nath Thakur is the writer of ‘Pranav Bharati’.
(C) Tyagaraja was an eminent Thumri singer.

(D) Allauddin Khan was a famous Dhrupad singer.

(E) V.N. Bhatkhande introduced Thaat-Rag Vargikaran.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (B) and (E) Only

() (B), (D) and (E) Only

(4) (Q), (D) and (E) Only

Al:1
A2:2
A3:3

Ad 4

Objective Question

1348 /1348

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Composers/Musicians belonging to Karnataka Music :
(A) Allauddin Khan

(B) Tyagaraja

(C) V.N. Bhatkhande

(D) Kazi Nazrul Islam

(E) Purandardas

Choose the correct answer from the options given below :
(1)  (A), (B) and (D) Only

(2) (B) and (D) Only

(3) (D) and (E) Only

(4)  (B) and (E) Only

Al:1
A2:2
A3:3

A4 4

Objective Question

1349 /1349

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Which are not the parts of Harmonium ?

(A) Gaj
(B) Parda
(C) Tumba

(D) Dhaunkani

(E) Kamani

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (D) and (E) Only

(3) (A) and (D) Only

(4) (A)and (C) Only

Al:1
A2:2
A3:3

Ad 4

Objective Question

1350 /1350

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Gamak (I) 3 swaras used in fast laya
(B) Meend (II)  One to other note without break
(C) Khatka (IIT) Vibrations of swaras
(D) Murki (IV) Swaras with a jerk in fast laya

Choose the correct answer from the options given below :
(1) (A1), (B)-), (O)-1V), (D)-(I)

(2 (A)-Im), (B)-(1D), (O)-(1V), (D)-(1)

() (A)-D), (B)-(I), (O)-(II), (D)-(IV)

4y (A)-(IV), (B)-(1T), (O)-(IL), (D)-(1)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1351 1351

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) Kehrawa (I) 16 matra
(B) Dadra (II) 6 matra
() Rupak (III) 7 matra

(D) Teen Tal (IV) 8 matra

Choose the correct answer from the options given below :
(1) (AIV), (B)-(1I), (O)-(I1T), (D)-(T)

(2 (A)-(ID), (B)-(ID), (O)-(IV), (D)-()

(3)  (A)-(II), (B)-(IV), (O)-(ID), (D)-(I)

4)  (A)-D), (B)-(IV), (C)-(IT), (D)-(IM)

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1352 11352

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Sushir Vadya () Dhol
(B) Tat Vadya (II) Harmonium
(C) Avanddha Vadya (ITI) Manjira
(D) Ghan Vadya (IV) Sitar

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(I), (C)-(II), (D)-(IV)

(2 (A)HIV), (B)(IL), (C)-(1D), (D)-(I)

(3) (A1), (B)-(IV), (O)-(1), (D)D)

4y (A)-(I), (B)-(IT), (C)-(1I), (D)-(IV)

Al:1

A2:2

A3:3

Ad 4

Objective Question

1353 /1353

Question no. 1 to 10 are Mandatory

What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara
Al:1
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A2:2

A3:3

A4 :4

Objective Question

1354 1354 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra’ is :

(1)
)
@)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question

Tansen
Bharat Muni
Tyagaraja
Birju Maharaj

1355 1355 Question no. 1 to 10 are Mandatory

Tala keharwa is used with

(1
(2
@)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question

Khayal
Bhajan
Dhrupad
Kuchipudi

1356 1356 Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?

@)
(2
)
4)

Al:1

A2:2

A melodic composition
A rhythmic framework
A musical instrument
An element of Tala

2_Live_NCET_ENG_1201-1600.html
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A3:3

Ad:4

Objective Question

1357 1357 Question no. 1 to 10 are Mandatory 4.0 100
A famous sanskrit playwright :
(1) Munshi Premchand
(2) Kalidasa
(3) Girish Karnad
(4) Rabindra Nath Tagore
Al:l
A2:2
A3:3
Ad:4
Objective Question
1358 1358 Question no. 1 to 10 are Mandatory 4.0 1.00
Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav
(B) Sampoorna-shadav
(C) Sampoorn-sampoorna
(D) Audav-Audav
(E) Sampoorna-Audav
Choose the correct answer from the options given below :
1) (A) (B), ©), D), (B)
2 (D) (A), B), ©), (B
@) D) (A), (E), (B) (O
(4) (A), (Q), (B), (E), (D)
Al: 1
A2:2
A3:3
A4:4
Objective Question
4.0 |1.00

1359 /1359 Question no. 1 to 10 are Mandatory
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Rajasthan is famous for following folk dance forms :
(A) Chari
(B) Kal-beliya

(C) Dandiya
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :

(1) (B), (D), (C) Only
2 (B), (O, (B) Only
(3)  (A), (B), (D) Only
@A), (©) (E) Only
Al:1
A2:2

A3:3

Ad 4

Objective Question

1360 |/1360

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian ‘Pakhawaj is bigger in size than South Indian ‘Mridangam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.

(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :

(1) (A) Only

(2)  (A), (B) Only

(B) (&), (B), (C) Only
@ (A, (B), (©), (D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1361 /1361

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar ()  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III) Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

@) (AL, (BRI, (O)-ILD), (D)-(IV)
2 (A)-(ID, B)-(1), (O~1V), (D)-(1II)
@) (AHD), (BRI, (O-(V), (D)-(I)
(4) (A)-(II), (B)-(I), (O)-(IV), (D)-(IL)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1362 1362

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II) Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

@) (A, (B)(1), (O)-), (D)-IV)
() (AALV), (B)(ILD), (O)-(ID), (D)-(D)
B)  (A)-(Im), (B)-(1V), (O)-(1D), (D)-(D)
@) (A, (B)-(1), (C(1), (D)-(IV)
Al:1
A2:2

A3:3

Ad 4

Objective Question

1363 /1363

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Which dance form Rukmini Devi Arundel related to ?
(1) Mohiniattam

(2) Bharatnatyam

(3) Kathak

(4) Kathakali
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Al:1

A2:2
A3:3
A4:4

Objective Question

1364 1364 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00

Dancing on a brass plate is performed as part of which classical dance ?
(1) Mohiniattam

(2) Bharatnatyam

(3) Kuchipudi

(4) Odissi

Al:1
A2:2
A3:3
A4:4

Objective Question

1365 1365 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which festival is a major draw for showcasing the dances of Nagaland ?
(1) Horn bill festival

(2) The Cheraw festival

(3) Lai Haroaba

(4) The sunburn festival

Al:1
A2:2
A3:3
Ad:4

Objective Question

1366 1366 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

The naturalistic mode of presentation is called :
(1) Natyadharmi

(2) Lokadharmi

(3)  Vritd

(4) Bhava

Al:1
A2:2
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A3:3
A4:4

Objective Question

1367 1367 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Rupak is the name of a :
(1) Nritya
(2) Drum
(3) Tala
(4) Hasta
Al:1
A2:2
A3:3
A4 :4
Objective Question
1368 1368 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
‘Anu’ in Anubhava means that which :
(1) Follows
(2) Precedes
(3) Inter mixes
(4) Erases
Al:1
A2:2
A3:3
Ad: 4
Objective Question
1369 11369 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
This is a representational dance with Abhinaya.
(1) Natya
(2) Nritta
(3) Tandava
(4) Nritya
Al:1
A2:2
A3:3
65/155
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A4 4

Objective Question

1370 /1370

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

2_Live_NCET_ENG_1201-1600.html

Natyashastra consists of how many chapters ?

® 12
@ 25
B) 36
@) 18
Al:1
A2:2

A3:3

A4 :4

Objective Question

1371 |[1371

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

What is the forceful vigorous dance called ?

(1) Tandava
(2) Lasya

(3) Kaishiki
(4) Bharati

Al:1
A2:2
A3:3

Ad 4

Objective Question

1372 /1372

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Arrange the following parts of ’Abh_inaya’ from start to end.

(A) Aharya
(B) Satwika
(C) Aangika

(D) Vachika

Choose the correct answer from the options given below :

@ (A), B), (©), (D)
2 (D) ©), (B), (A
Gy (©. (D), (A) (B)
@ B ) D) (A

Al:1

A2:2
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A3:3

A4:4

Objective Question

1373 1373 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Arrange the following instruments used in folk Dances starting from North to South.
(A) Dhol
(B) Rawanhatha
(C) Surnai
(D) Surta Shansi
(E) Chenda
Choose the correct answer from the options given below :
(1) (A, (B), (©), (D), (E)
(20 (B), (D), (©), (B)., (A)
(3  (©) (B) (A), (B), (D)
(4) (O (A), (B). (D), (E)
Al:1
A2:2
A3:3
A4:4
Objective Question
1374 1374 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
The hastas in the Asamyukta hasta sloka are in order of :
(A) Pataka
(B) Kartarimukha
(C) Ardhapataka
(D) Tripataka
Choose the correct answer from the options given below :
(1) (A) (D), (O), (B)
2 (A ©), (D) (B)
@) (©), (A), (B), (D)
4 (D) (Q), (A) (B)
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 |1.00

1375 1375 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Choose the correct names of the following who belong to Jaipur Gharana.
(A) Radhe Lal

(B) Sundar Prasad

(C) Heera Lal

(D) Jai Lal

(E) Birju Maharaj

Choose the correct answer from the options given below :
1 (B), Q. (D) (E) Only

(2 (A), (B), (), (D) Only

@) (A) (O, (D), (E) Only

(4) (©), (D), (E), (B) Only

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1376 /1376

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

The two important aspects of Sattvika Abhinaya are :

(A) Mindless presentation

(B) Concentration of mind

(C) Vague presentation

(D) Grand presentation

Choose the correct answer from the options given below :
(I) (B) and (D) Only

(2) (A)and (C) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Al:1
A2:2
A3:3

A4 4

Objective Question

1377 1377

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Which two dance festivals are held in Maharashtra ?
(A) Natya kala conference

(B) Surya festival

(C) Ellora festival

(D) Mamallapuram festival

(E) Kala Ghoda festival

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (D) Only

(3) (C) and (E) Only

(4) (C) and (B) Only

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1378 ||1378

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - 1L

List - I List - II
Classical Dance Dance Masters
(A) Kathak () Radha Raja Reddy
(B) Kuchipudi (I)  Birju Maharaj
(C) Bharamatyam () Kalamadalam Ramankutty Nair
(D) Kathakali (IV) Rukmini Devi Arundale

Choose the correct answer from the options given below :
M (A0, (B-(I1), (O-(I), (D)-(IV)

(2 (A1), (B)-(0), (O(IV), (D)-(1M)

(3)  (A)I), (B)-(1V), (O)-(IT), (D)-(I)

(@) (A)-(IV), (B)-(1II), (O)~(ID), (D)-(T)

Al:1

A2:2

A3:3

A4 4

Objective Question

1379 /1379

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) Nalanda (I)  Chennai
(B) Kalakshetra () Awurangabad
(C) Kalamandalam (1) Mumbai
(D) Mahagami (IV) Kerala

Choose the correct answer from the options given below :
(1) (A)-D), (B)y-(I), (C)-(IL), (D)-(IV)

2 (A1), B)-(D), (O(1V), (D)-(11)

(3)  (A)I), (B)-(I), (COH(IV), (D)-(II)

4y (A)-(IV), (B)-(IL), (C)1L), (D)-(T)

Al: 1

A2:2

A3:3

Ad:4

Objective Question

1380 (/1380

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
(A) Abhinaya Darpan (I)  Bharat Muni
(B) Abhinav Bhart () Maheshwara Mahapatra
(C) Abhinay chandrika (III) Nandikeshwara
(D) Natyashastra (IV) Abhinav Gupta

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(I), (C)-(IL), (D)-(IV)

2 (A1), (B)-(1), (O(1V), (D)-(11)

(3)  (A)-II), (B)-(IV), (O)-1L), (D)-(I)

4y (A)-(IV), (B)-(IL), (C)1L), (D)-(1)

Al:1

A2:2

A3:3

Ad 4

Objective Question

1381 /1381

Question no. 1 to 10 are Mandatory

What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara
Al:1
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A2:2

A3:3

A4:4

Objective Question

13821382 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra” is :

(1
(2
@)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question

Tansen
Bharat Muni
Tyagaraja
Birju Maharaj

1383 11383 Question no. 1 to 10 are Mandatory

Tala keharwa is used with

(1
(2
@)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question

Khayal
Bhajan
Dhrupad
Kuchipudi

1384 11384 Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?

@)
(2
)
4)

Al:1

A2:2

A melodic composition
A rhythmic framework
A musical instrument
An element of Tala

2_Live_NCET_ENG_1201-1600.html
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A3:3

A4 :4

Objective Question

1385 1385 Question no. 1 to 10 are Mandatory 4.0 1.00
A famous sanskrit playwright :
(1) Munshi Premchand
(2) Kalidasa
(3) Girish Karnad
(4) Rabindra Nath Tagore
Al:1
A2:2
A3:3
Ad:4
Objective Question
1386 1386 Question no. 1 to 10 are Mandatory 4.0 /1.00
Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav
(B) Sampoorna-shadav
(C) Sampoorn-sampoorna
(D) Audav-Audav
(E) Sampoorna-Audav
Choose the correct answer from the optlions given below :
1) (A) (B), ©), D), (B)
2 (D) (A), B), ©), (B
) (D) (A), (E), (B), (O
(4) (A), (Q), (B), (E), (D)
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 |1.00

1387 /1387 Question no. 1 to 10 are Mandatory
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Rajasthan is famous for following folk dance forms :
(A) Chari
(B) Kal-beliya

(C) Dandiya
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :

(1) (B), (D), (C) Only
2 (B), (O, (B) Only
(3)  (A), (B), (D) Only
@A), (©) (E) Only
Al:1
A2:2

A3:3

Ad 4

Objective Question

1388 ||1388

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian ‘Pakhawaj is bigger in size than South Indian ‘Mridangam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.

(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :

(1) (A) Only

(2)  (A), (B) Only

(B) (&), (B), (C) Only
@ (A, (B), (©), (D)

Al:1
A2:2
A3:3

Ad:4

Objective Question

1389 /1389

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar ()  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III) Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

@) (AL, (BRI, (O)-ILD), (D)-(IV)
2 (A)-(ID, B)-(1), (O~1V), (D)-(1II)
@) (AHD), (BRI, (O-(V), (D)-(I)
(4) (A)-(II), (B)-(I), (O)-(IV), (D)-(IL)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1390 /1390

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II) Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

@) (A, (B)(1), (O)-), (D)-IV)
() (AALV), (B)(ILD), (O)-(ID), (D)-(D)
B)  (A)-(Im), (B)-(1V), (O)-(1D), (D)-(D)
@) (A, (B)-(1), (C(1), (D)-(IV)
Al:1
A2:2

A3:3

Ad 4

Objective Question

1391 /1391

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Recognise the Laya 12 34..56.......

(1) Thah

(2) Dugun
(3) Tigun

(4) Chaugun
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Al:1

A2:2
A3:3
A4:4

Objective Question

13921392 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00

How many ‘Gatta’s (Wooden blocks) are there in Tabla ?
(1) 6

(2 8

(3) 10

4y 12

Al:1
A2:2
A3:3
A4:4

Objective Question

1393 1393 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which ‘Bol’ is there on the 3™ matra of Taal Keharva ?
(1) Dha

(2) Dhin

(3) Na

(4) Kat

Al:1
A2:2
A3:3
Ad:4

Objective Question
1394 11394 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00
Which Taal is played with Folk Music ?
(1) Teentaal
(2) Khemta
(3) Ektaal
(4) Chautaal

Al:1
A2:2
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A3:3

Objective Question

1395 1395 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100

Which instrument is the most prominent Percussion instrument in South Indian Music ?
(1) Pakhawaj

(2) Kanjira

(3) Mridangam

(4) Ghatam

Al:1
A2:2
A3:3
A4 :4

Objective Question

1396 1396 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Taal Khemta consists how many Matras ?
(1) 11
(2) 14
3) 12
(4) 10

Al:1
A2:2
A3:3
Ad: 4

Objective Question
1397 11397 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Quaida is speciality of which Gharana :
(1) Farukhabad

(2) Banaras

(3) Lucknow

(4) Delhi

4.0 1.00

A2:2

A3:3

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 76/155



7/10/24, 7:41 PM 2_Live_NCET_ENG_1201-1600.html
A4 4

Objective Question

1398 1398 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Which Artist was Awarded the title ‘Professor of Pakhawaj ?
(1) Ustad Zakir Hussain
(2) Raja Chhatrapati Singh
(3) Purushotam Das
(4) Kudau Singh
Al:1
A2:2
A3:3
A4:4
Objective Question
1399 1399 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Which is the prominent element in the Carnatic Taal system ?
(1) Matra
(2) Khand
(3) Anga
(4) Vibhag
Al:1
A2:2
A3:3
A4:4
Objective Question
1400 1400 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Which instrument is known as ‘Deva-Vadya’ (Divine instrument) ?
(1) Pakhawaj
(2) Tabla
(3) Mridangam
(4) Damaru
Al:1
A2:2
A3:3
A4 4
Objective Question
4.0 1.00

1401 /1401 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Arrange the Theka in correct sequence of Dhamar Taal.
(A) Dhi-Ta-Dha

(B) S-Ge-Ti
(C) Ka-Dhi-Ta
(D) Ta-Ti-

(E) Ta-Ta-S

Choose the correct answer from the options given below :
(1) (A), (B), (D), (O), (E)

(2 (©, (&), (B), (D), (B)

@) (©), (A), (D), (B), (B)

(4) (B), (A), (D), (E), (©)

Al: 1

A2:2

A3:3

Ad:4

Objective Question

1402 | 1402

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Arrange the Taals according to their Matras in descending order.
(A) Keherwa

(B) Dadra

(C) Dhamar

(D) Seoltaal

(E) Tritaal

Choose the correct answer from the options given below :
(1) (E), (Q), (D), (A), (B)

2 (A, (B), ©), (B), (D)

@) (B), (O), (D), (A), (E)

4 (E). (©) (D), (B), (A)

Al:1

A2:2

Ad 4

Objective Question

1403 /1403

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Arrange the Tabla plavers, Pakhawaj players and Mridangam players respectively.
(A) Pt Purushotam Das

(B) Ustad Zakir Hussain

(C) Palghat Mani lyer

(D) Raja Chhatrapati Singh

(E) Pt. Kishan Maharaj

Choose the correct answer from the options given below :
(1) (A), (B), (D), (E), (O)

(2 (B), (D), (A), (©), (B)

@) (B), (B) (A), (©), (D)

(4) (B), (E), (A), (D), (O

Al: 1
A2:2
A3:3

Ad:4

Objective Question

1404 | 1404

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Tabla solo is played in which of the following Taal ?
(A) Teentaal

(B) Keharwa
(C) Seoltaal
(D) Rupak
(E) Khemta

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (B), (©), (E) Only

(3) (A) and (D) Only

(4) (A), (B), (D) and (E) Only

Al:1

A2:2

A3:3

Ad:4

Objective Question

1405 | 1405

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Which Gharana of Tabla is a branch of Delhi Gharana ?
(A) Punjab

(B) Farukhabad

(C) Banaras

(D) Lucknow

(E) Ajrada

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
(2) (B) and (C) Only
(3) (D) Only

(4) (D) and (E) Only
Al:1

A2:2

A3:3

Ad 4

Objective Question

1406 |/1406

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List -1 List - IT
Musical Forms Instrument
(A) Khyal (I) Pakhawaj
(B) Dhrupad (II) Mridangam
(C) Bharatnatyam Dance (IIl) Tabla
(D) Folk Music (IV) Dholak

Choose the correct answer from the options given below :

(1) (A)HD, (B, (O-(I), (D)-(IV)
@ (A1), B)-, ©)-0), (D)-1V)
(@) (A=), (B)-(1), (C)-(1), (D)-(IV)
@) (A)-IV), (B)(I), (C)-(1), (D)-(ID)
Al:1
A2:2

A3:3

A4:4

Objective Question

1407 /1407

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) Allahrakha (I) Palani subramanya
(B) Kanthe Maharaj () Raja Chhatrapati Singh
(C) Muthiah Pillai (III) Zakir Hussain
(D) Swami Ramdasji (IV) Kishan Maharaj

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(I), (C)-(1V), (D)-(I)

(2 (A)AIV), (B)(IL), (O)-(1), (D)-(I)

(3)  (A)(Im), (B)-(1V), (O)-(D), (D)-(I)

4 (A1, (B)-(1), (O)-(1V), (D)~(11D)

Al: 1

A2:2

A3:3

Ad:4

Objective Question

1408 | 1408

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Delhi () Gat
(B) Farukhabad (II) Bant
(C) Banaras (III) Quaida
(D) Lucknow (IV) Gat Paran

Choose the correct answer from the options given below :
(1) (A)-D), (B)y-(I), (C)-(IL), (D)-(IV)

(2 (A)AID, B)-(LD), (©)-0), (D)-(1V)

(3) (A, (B)-(1D), (©)-(D), (D)-(IV)

4y  (A)-(II), (B)-(L), (C)-(I), (D)-(IV)

Al:1

A2:2

A3:3

Ad 4

Objective Question

1409 /1409

Question no. 1 to 10 are Mandatory

What is the term used for Time Cycle in Indian music and dance ?

(1) Raag
(2) Naad
(3) Taal
(4) Swara
Al:1
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A2:2

A3:3

A4:4

Objective Question

1410 1410 Question no. 1 to 10 are Mandatory

Author of ‘Natya Shastra’ is :

(1)
)
@)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question

Tansen
Bharat Muni
Tyagaraja
Birju Maharaj

1411 1411 Question no. 1 to 10 are Mandatory

Tala keharwa is used with

(1
(2
@)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question

Khayal
Bhajan
Dhrupad
Kuchipudi

1412 11412 Question no. 1 to 10 are Mandatory

What is Raga in Indian Music ?

@)
(2
)
4)

Al:1

A2:2

A melodic composition
A rhythmic framework
A musical instrument
An element of Tala

2_Live_NCET_ENG_1201-1600.html
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A3:3

A4 :4

Objective Question

1413 /1413 Question no. 1 to 10 are Mandatory 4.0 100
A famous sanskrit playwright :
(1) Munshi Premchand
(2) Kalidasa
(3) Girish Karnad
(4) Rabindra Nath Tagore
Al:1
A2:2
A3:3
Ad:4
Objective Question
1414 (1414 Question no. 1 to 10 are Mandatory 4.0 1.00
Arrange in ascending order according to the number of swaras in following Jatis.
(A) Shadav-Audav
(B) Sampoorna-shadav
(C) Sampoorn-sampoorna
(D) Audav-Audav
(E) Sampoorna-Audav
Choose the correct answer from the optlions given below :
1) (A) (B), ©), D), (B)
2 (D) (A), B), ©), (B
) (D) (A), (E), (B), (O
(4) (A), (Q), (B), (E), (D)
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 |1.00

1415 /1415 Question no. 1 to 10 are Mandatory
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Rajasthan is famous for following folk dance forms :

(A) Chari

(B) Kal-beliya
(C) Dandiya
(D) Ghoomar
(E) Garba

Choose the correct answer from the options given below :

(1) (B), (D), (C) Only
2 (B), (O, (B) Only
(3)  (A), (B), (D) Only
@A), (©) (E) Only
Al:1
A2:2

A3:3

Ad 4

Objective Question

1416 ||1416

Question no. 1 to 10 are Mandatory

(A) ‘Pakhawaj is perceived as having a body of burnt clay.

(B) North Indian ‘Pakhawaj is bigger in size than South Indian ‘Mridangam’.
(C) The membrane of Mridangam is softer than that of Pakhawaj.

(D) The sound of Mridangam is heavier (more base) than Pakhawaj.

Choose the correct answer from the options given below :

(1) (A) Only

(2)  (A), (B) Only

(B) (&), (B), (C) Only
@ (A, (B), (©), (D)

Al:1
A2:2
A3:3

A4 4

Objective Question

1417 1417

Question no. 1 to 10 are Mandatory
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Match List - I with List - I1.

List - I List - 11
(A) Ravi Shankar ()  Shehnai
(B) Bismillah Khan (II) Thumri
(C) Girish Karnad (III) Sitar
(D) Girija Devi (IV) Theatre

Choose the correct answer from the options given below :

@) (AL, (BRI, (O)-ILD), (D)-(IV)
2 (A)-(ID, B)-(1), (O~1V), (D)-(1II)
@) (AHD), (BRI, (O-(V), (D)-(I)
(4) (A)-(II), (B)-(I), (O)-(IV), (D)-(IL)
Al:1
A2:2

A3:3

Ad:4

Objective Question

1418 1418

Question no. 1 to 10 are Mandatory

Match List - I with List - IL

List - I List - II
(A) Pitch (I)  Type of Naad
(B) Anahat (II) Swar
(C) Komal Ni (III) Property of Naad
(D) Krodha (IV) Shruti

Choose the correct answer from the options given below :

@) (A, (B)(1), (O)-), (D)-IV)
() (AALV), (B)(ILD), (O)-(ID), (D)-(D)
B)  (A)-(Im), (B)-(1V), (O)-(1D), (D)-(D)
@) (A, (B)-(1), (C(1), (D)-(IV)
Al:1
A2:2

A3:3

Ad 4

Objective Question

1419 /1419

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Charudutta and Vasantasena, these two characters belongs to which play ?

(1) Urubhangam

(2) Swapnavasavadatta
(3) Mricchkatikam

(4) Vikromourvasiyam
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Al:1

A2:2
A3:3
A4:4

Objective Question

1420 /1420 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 |1.00

Who is the modern Indian theater practitioner, studied in the Royal Academy of Dramatic Arts,
London from the following ?

(1) Habib Tanvir

(2) Bhanu Bharti

(3) B.V. Karanth

(4) Ratan Thiyam

Al:1
A2:2

A3:3

Objective Question

1421 1421 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Which one of the following plays of sophocle’s was used by Aristotle in his poetics as an example
of the highest achievement in Tragedy ?

(1) Antigone

(2) Oedipus the king

(3) Oedipus at colonus

(4) Ajax

Al:1
A2:2
A3:3
A4:4

Objective Question
1422 1422 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Who saw the Father's Ghost in the play “Hamlet” ?
(1) Rosen erunz

4.0 |/1.00

(2) Hamlet
(3) Ophelia
(4) Gartud
Al:1
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A2:2

A3:3
A4 4

Objective Question

1423 11423 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

“An Actor Prepares” book is written by :
(1) Meyerhold

(2) Peter Brook

(3) Stanislavski

(4) Brecht

Al:1
A2:2
A3:3
A4:4

Objective Question

1424 1424 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 1.00

Who is the author of the book ‘Empty Space’ ?
(1) Lee strasberg

(2) Bertolt Brecht

(3) Peter Brook

(4) Marlon Brando

Al:1
A2:2
A3:3
A4:4

Objective Question

1425 1425 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 /1.00

What are the different wings of National school of Drama ?
(A) Repertory

(B) Craft fair

(C) Sanskar Rang Toli

(D) National Cultural Exchange Programme

(E) A Publication Centre

Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only

() (A), (C) and (E) Only

(3) (A)and (B) Only

(4) (D) and (E) Only
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Al:1

A2:2

A3:3

A4 4

Objective Question

1426 |/1426

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Identify the types of lights from the followings.
(A) Parabolic reflector

(B) Dimmers

(C) Ultraviolet lamps tubes

(D) Mirror ball

(E) Strobe light

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (C), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (B) and (C) Only

Al:1
A2:2
A3:3

Ad 4

Objective Question

1427 11427

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

What are the principles of set Designing ?
(A) Balance

(B) Integrity

(C) Fire effect

(D) Proportion

(E) Rhythm

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (A), (B) and (C) Only

(4) (A), (D) and (E) Only

Al:1
A2:2

A3:3
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A4 4

Objective Question

1428 1428 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Which play has written by Shakespeare ?
(A) Macbeth
(B) Tempest
(C) Waiting for Godot
(D) Merchant of Venice
(E) Trojan women
Choose the correct answer from the optlions given below :
(1) (A), (D) and (E) Only
(2)  (A), (C), (D) and (E) Only
(3) (A), (B) and (D) Only
(4) (A), (B), (C) and (E) Only
Al:1
A2:2
A3:3
Ad:4
Objective Question
1429 1429 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation. 4.0 100
Which character is absent in the play Ashad Ka Ek Din by Mohan Rakesh ?
(A) Dushyant
(B) Kalidasa
(C) Charudutta
(D) Mallika
(E) Vilom
Choose the correct answer from the options given below :
(1) (B), (C) and (E) Only
(2) (A)and (C) Only
(3) (B), (D) and (E) Only
(4) (A) and (E) Only
Al:1
A2:2
A3:3
A4 :4
Objective Question
4.0 11.00

1430 /1430 Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Write the correct order of the Sanskrit playwrights :

(A) Bhasa

(B) Bhavbhuti

(C) Kalidasa

(D) Shudrak

Choose the correct answer from the options given below :
1) (A), B), (© (D)

2 (), ©), (D), (B)

@) (B), (O), (A), (D)

4 (D) (A) (O, (B)

Al:1
A2:2
A3:3

A4:4

Objective Question

1431 |/1431

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - 11
(A) Bidesia () Gujrat
(B) Bihu (I) Bihar
(C) Garba (IfIy Manipur
(D) Lai Haraoba (IV) Assam

Choose the correct answer from the options given below :
(1) (A1, (B)-(V), (O)-(), (D)-(IM)

2 (A)-Im), (B)-(D), (O-(IV), (D)-(I)

(@) (A)HIV), (B)-(1D), (O)-), (D)-(1)

(4)  (A)-D), (B)-(I), (C)-(II), (D)-(IV)

Al:1

A2:2

A3:3

A4 4

Objective Question

1432 /1432

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - 1L

List - I List - II

Plays Writer
(A) Badh ka pani (I) Badal Sircar
(B) Yayati (II) Mohan Rakesh
(C) Baki ldhaas (LII) Dr. Shanker Shesh
(D) Aashadh Ka Ek Din (IV) Girish Karnad

Choose the correct answer from the options given below :
(1) (A)-Im), (B)-(IV), (O, (D)-(I)

2 (A)D), (BRI, (O)-(1I), (D)-(IV)

(3)  (A)-(IV), (B)-(1I), (C)-(1D), (D)-(I)

@) (A)-1D, (B)-(I), (O)-(1V), (D))

Al:1

A2:2

A3:3

A4:4

Objective Question

1433 /1433

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
(A) Peter Brook (I)  Five times Emmy Award
(B) Marlon Brando () Shakespeares one man show
(C) Laurence olivier (IfI) Mahabharat
(D) John Gielgud (IV) God Father

Choose the correct answer from the options given below :
1) (A)D, (B)-(IT), (C)-(I11), (D)-(IV)

2 (A)-D, (B}-(ILL), (O-(1V), (D)-(ID)

(3) (AL, (B)-(1V), (C)~(I), (D)-(IN)

4 (A)-1V), (B)-I), (C)-(IT), (D)-(III)

Al:1

A2:2

A3:3

A4 4

Objective Question

1434|1434

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - 1L

List- I List - II
(A) Shanti Chakravarty (I) Set Design
(B) Dolly Ahluwalia (I) Lighting Design
(C) B.V. Karanth (ITI) Costume Design
(D) Robin Das (IV) Theatre Music
Choose the correct answer from the options given below :
1 (A, (B)-{D), (©)-IV), (D)-0)
2 (A)-(IV), (B)-(ILD), (C)-(1), (D)-(ID)
(3) (A, (B)-(1D), (©)-1), (D)-(1V)
(4)  (A)-(I), (B)-(IT), (C)-(II), (D)-(IV)

Al: 1l
A2:2
A3:3

Ad:4

Objective Question

1435 1435

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.

Match List - I with List - I1.

List - I List - II
(A) Prithvi Theatre (I) Bhopal
(B) Tagore Theatre (II) New Delhi
(C) Bharat Bhawan (IT1I) Chandigarh
(D) Shri Ram Cenre (IV) Mumbai

Choose the correct answer from the options given below :
1) (A1), (B)-(I), (C-(1V), (D)-(I)

2 (A)AD, (B-(IV), (C)-(IN), (D)-(II)

(@) (A1), (B)-(IV), (O)-(1D), (D)-(0)

4y (A)-(IV), (B)-(IL), (C)T), (D)-(IT)

Al:1

A2:2

A3:3

Ad 4

Objective Question

1436 /1436

Candidate can only answer 15 Questions for Q11 to Q28, First 15 attempted questions will be considered for evaluation.
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Match List - I with List - I1.

List - I List - II
(A) National School of Drama (I)  Bhopal
(B) Bhartendu Natya Acadamy (I) Gwalior
(C) Bharat Bhawan (IIf) Lucknow

(D) Raja Mansingh Tomar University (IV) Delhi
(Music University)

Choose the correct answer from the options given below :

1 (A)-(IV), (B)-(II), (C)-(D), (D)-(IT)

(2 (AQ(I), (B)-(0), (O-(ID), (D)-(IV)

(@) (A)-(D), (B)-(IT), (C)-(IIL), (D)-(IV)

@) (A)-IV), (B)-(III), (O)~1L), (D)-(I)

Al:1
A2:2
A3:3

A4:4

Objective Question

1437 ||1437

Who said “Sound mind lives only in sound body” ?
(1) Aristotle

(2) H.C. Buck

(3) Kierkegaard

(4) Basedow

Al:1
A2:2
A3:3

A4 4

Objective Question

1438 /1438

were the first society torealize the ef_ficacy of sports and physical activities in disciplining

the youngsters.
(1) Romans
(2) Greeks
(3) Chinese
(4) Indians

Al:1
A2:2

A3:3

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html

4.0

4.0

1.00

1.00

93/155



7/10/24, 7:41 PM 2_Live_NCET_ENG_1201-1600.html
A4 4

Objective Question

1439 1439 40 100
are the proud legacy of the European culture.
(I) Yoga
(2) Martial Arts
(3) Gymnastics
(4) Outdoor sports
Al:1
A2:2
A3:3
Ad 4
Objective Question
1440 1440 40 1.00
In which of the following methods, an athlete should practice to run a specific distance to develop
speed ?
(1) Acceleration Runs method
(2) Continuous method
(3) Fartlek method
(4) Interval method
Al:1
A2:2
A3:3
Ad:4
Objective Question
1441 1441 4.0 1.00
In a sitting position, doing flexion and extension movement of knees are the example of
(1) Isometric exercise
(2) Isokinetic exercise
(3) Isotonic exercise
(4) Circumduction exercise
Al:1
A2:2
A3:3
Ad:4
Objective Question
4.0 11.00

1442 1442
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The supreme authority for directing and controlling the Olympic movement is
(1) International Olympic Committee

(2) Indian Olympic Association

(3) National Sports Federation

(4) Olympic Council of Asiad

Al:1
A2:2
A3:3
Ad:4

Objective Question

1443 1443 4.0 1.00

Objective of extramural competition/tournaments is :

(1) To focus on fitness, wellness and health aspects of children.

(2) To provide first opportunity to compete in a controlled environment.

(3) To promote socialism, cultural and economic development through sports.

(4) To encourage mass participation in sports in an institution.
Al:1
A2:2
A3:3
A4:4

Objective Question

1444 | 1444 4.0 1.00

In which type of fixture method, one team will be fixed in one position and the other will be placed
in rotation to complete the cycle ?

(1) Knock-out fixture

(2) Stair-case method fixture

(3) Challenge method fixture

(4) Cyclic method fixture

Al:1
A2:2
A3:3
Ad:4

Objective Question

1445 | 1445 4.0 |1.00

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 95/155



7/10/24, 7:41 PM 2_Live_ NCET_ENG_1201-1600.html

Straightening or extending a limb, where the angle at a joint is increased is known as
(1) Flexion

(2) Extension

(3) Abduction

(4) Adduction

Al:1
A2:2
A3:3
Ad:4

Objective Question

1446 | 1446 4.0 1.00

A fractures may occur because of over use of injured part and the failure to have adequate equip-
ment to protect the body :

(1) Green Stick fracture
(2) Complicated fracture
(3) Stress fracture

(4) Impacted fracture

Al:1
A2:2
A3:3
A4:4

Objective Question

1447 1447 4.0 1.00

Which is an item of Rikli and Jones test to determine the upper body flexibility ?
(1) 6 min. walk test

(2) 8 foot up and go test

(3)  Arm curl test

(4) Back Scratch test

Al:1
A2:2
A3:3
Ad:4

Objective Question

1448 | 1448 4.0 | 1.00

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 96/155



7/10/24, 7:41 PM

2_Live_NCET_ENG_1201-1600.html

Which of the following law states that, the rate of change of momentum of a body is proportional
to the resultant force acting on the body and is in the same direction ?

) Law of Inertia

(2) Law of Reciprocal Action Force
) Law of Acceleration

) Law of Gravity

)
(4

—_—

Al:1

A2:2

A3:3

A4:4

Objective Question

1449 |1449

An ectomorph somatotype is also known as
(1) Cerebrotonic type

(2) Viscerotonic type

(3) Somatotonic type

(4)  Aesthenic body type

Al:1

A2:2

A3:3

A4:4

Objective Question

1450 /1450

Arrange the following institutes of physical education, in respect to their location on the map from

North to South :

(A) LNIPE (Gwalior)
(B) YMCA (Chennai)
(C) NSNIS (Patiala)
(D) LCCPE (Lucknow)

Choose the correct answer from the options given below :

n @), (©) A) B
(2 (©), (D), (A) (B)
@) (A), (B), (C), (D)
@) (A), (B), (D), ©)
Al:1

A2:2

A3:3
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A4 4

Objective Question

1451 1451 40 100
Arrange the follnwing postural deformities in a sequential order from Toe to Head :

(A) Scoliosis
(B) Round shoulders

(C) Genu Varum

(D) Pes Planus

Choose the correct answer from the options given below :
(1) (), (Q) (A) (D)

20 (A, B), (D), (©

@) (D) (A), (©) (B)

4 (D) (©), (A) (B)

Al:1
A2:2
A3:3
A4 :4

Objective Question

1452|1452 4.0 1.00
Psychologists use the Concept of Need to describe the motivational properties of behaviour. Arrange

them in a sequential order.
(A) Reduction of arousal

(B) Goal Directed Behaviour
(C) Drive

(D) Achievement

(E) Arousal

Choose the correct answer from the options given below :
M (A)(©), (B), (E), (D)

(2 (), Q) (D), (A), (B)

(3)  (©), (E), (B), (D), (A)

4 (B), (©), (D). (A), (B)

Al:1
A2:2
A3:3
A4:4

Objective Question
1453 11453 4.0 |/1.00
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With specific reference to the requirement of sleep for various age groups, according to National
Institute of Health, arrange the following age groups in a descending sequential order.
(A) 3to5 years

(B) 1to3 years

(C) 12 to 18 years

(D) 3 months to 1 year

(E) 5to12 years

Choose the correct answer from the options given below :

1 (D). (A), E), ), (B)

(2 (B), (O), (D), (A), (E)

(3 (A), (D), (E), (B), (C)

) (D), (B), (A), (B), (O)

Al:1
A2:2
A3:3
Ad:4

Objective Question

1454 1454
With specific reference to the required duration of activity, arrange the followiug tests in a sequen-

tial order from minimum to maximum :
(A) Harvard step test
(B) Abdominal (Partial curl up)
(C) Minutes step test
(D) Minutes walk test
Choose the correct answer from the options given below :
1y (B), (©) (A), (D)
2 (A), (B), (C) (D)
3 (D). (B), (©), (A)
)

@) (A), D) (B), (€
Al:l
A2:2
A3:3

A4 4

Objective Question
1455 1455
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The Sports Authority of India is the Nodal Agency for implementation of which of the following

sports schemes of MYAS ?

(A) National Sports Talent Contest (Sub Jr., Junior and Senior levels)

(B) Rural Sports Competition

(©) Women’s National Sports Festival Programme
(D) Army Boys Sports Company (Sub Jr.)

(E) Special Area Games

Choose the correct answer from the options given below :

(1) (B) and (C) Only
(2) (A) and (B) Only
() (B), () and (D) Only
(4) (A), (D) and (E) Only

Al:1
A2:2
A3:3

A4 :4

Objective Question

1456 |/1456

Which of the following are the objectives of first aid ?
(A) To give immediate care and relieve pain

(B) To promote injury and preserve water

(©) To protect the casualty from further harm

(D) To promote recovery
(E) Preserve mineral and preserve environment

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
2 (A), (O) and (D) Only
(3 (©), (D) and (E) Only
@) (B), (C) and (D) Only

Al:1

A3:3

A4 :4

Objective Question

1457 ||1457
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Which of the following are not the test items of Barrow General Motor Ability Test ?

(A) 600 m Run/Walk

(B) Zig/Zag Run

(C) Medicine Ball Put

(D) Push-Ups

(E) Standing Broad Jump

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A) and (D) Only

(3) (B) and (E) Only

4) (C) and (E) Only

Al:1
A2:2
A3:3

A4 4

Objective Question

1458 |/1458

Which of the following are the examples of fluid friction ?
(A) Swimming and Diving

(B) Hit a Cricket ball with bat

(C) Sky Diving

(D) High Jump

(E) Ice Skatling

Choose the correct answer from the options given below :

(1) (B), (C) and (E) Only
(2) (A), (B) and (C) Only
(3 (A), (©) and (D) Only
@) (©), (D) and (E) Only

Al:1
A2:2
A3:3

A4:4

Objective Question

1459 /1459
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With specific reference to "Big Five Theory,” Which of the following are the behavioural aspects for
high score for conscientiousness ?

(A) Well organised, careful

(B) Insecure, Nervous

(©) Anxious

(D) Responsible

(E) Self Disciplined

Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©). (D) and (E) Only

4) (B). (©) and (D) Only

Al:1
A2:2
A3:3
A4 :4

Objective Question

1460 |/1460 4.0 1.00
Match List - I with List - IL
List - I List - II
(A) Effort and Recovery (I) Isometric exercise
(B) Work done not visible (II) Fartlek training
(C) Movement seen directly (IlI) Interval training
(D) Speed play (IV) Isotonic exercise

Choose the correct answer from the options given below :
(1 (A, (B)-(D), (O-(1V), (D)-(I)

(2 (A)-IV), (B)-(1D), (O)-(1I), (D)-(I)

(3) (A)-(ID), (B)-(I1D), (O)-(D), (D)-(IV)

4)  (A)HD, (B-(IV), (C)-(ID), (D)~(1m)

Al:1

A2:2

A3:3

A4 :4

Objective Question
1461 | 1461 4.0 1.00
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Match List - I with List - IL
List - I List - 11
If participating teams are odd in number

in a Knockout Tournament

N+1
(A) Number of teams in lower half (1) 3

NB-1
(B) Number of matches (1) 2
(C) Number of Byes in upper half (I N-1

i
(D) Number of teams in upper half (IV) TR

Choose the correct answer from the options given below :

1) (A)-IV), (B)-(IL), (O)-(1D), (D)-(D)
2 (A)-(D), (B)-(I), (C)<(I1), (D)-(IV)
G (A-1D, B)-0), (O-(1V), (D))
@) (A, (B)-(1V), (O)-(D), (D)-(IT)
Al:1
A2:2

A3:3

A4:4

Objective Question

1462 ||1462

Match List - I with List - IL

List - I List - II
(A) Knock knees ()  Pes planus
(B) Bow legs (I)y Kyphosis
(©) Flat foot (III) Genu Valgum
(D) Hunch back (IV) Genu Varum

Choose the correct answer from the options given below :

1)y (A)-(II), (B)-(ID), (©)-(I), (D)-(IV)
(2) (A, (B)-IV), (O-(D), (D)-(II)
(3) (A)-(IV), (B)-(IMI), (C)-(1L), (D)-(1)
(@) (A)HID, (B)-(IV), (O)-(1I), (D)-I)
Al:1
A2:2

A3:3

A4 : 4

Objective Question

1463 ||1463
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1464 | 1464

2_Live_NCET_ENG_1201-1600.html

Match List - I with List - IL

List - I List - II
(A) Bone bends and crack (I)  Comminuted
(B) Broken ends jammed together (II) Greenstick fracture
(C) Bome is broken diagonally (III) Impacted
(D) Bone breaks in number of pieces (IV) Oblique fracture

Choose the correct answer from the options given below :
M (A, (B}-(I1), (O-(I), (D)-(IV)
(2) (A, (B)-(1V), (O)-(D), (D)-(I)
(3) (A)-(IL), (B)-(I1L), (C)-(IV), (D)-(1)
)

@) (A)-(IV), (B)«(I), (C)-(II), (D)-(IID)

Objective Question

1465 /1465

Al:1
A2:2
A3:3
A4 4
4.0 1.00
Match List - I with List - IL
List - I List - II
(A) Kind and friendly (I)  Agreeableness
(B) Organized, systematic and punctual (II) Assertive behaviour
(C) Legitimate, does not break any rule of game (IIT) Hostile aggression
(D) Inflicting or causing harm (IV) Consecientiousness
Choose the correct answer from the options given below :
(1) (A1, B)-1), (O, (D)-IV)
(2 (AHIV), (B)-(ID), (O)-(T), (D)-(IT)
(3) (A)"(I_H), (B)-(1I), (C)"(I_VL (D)-(1)
@) (A1), (B-(IV), (C)-(II), (D)~(III)
Al:1
A2:2
A3:3
A4 4
4.0 |1.00

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 104/155



7/10/24, 7:41 PM 2_Live_ NCET_ENG_1201-1600.html

i
If electric potential in a region is V=3x + 3y — z, then the electric field strength E for the region is :

Yy @ 87—k

>

@ i+j—k

+ &

b T

G —i-
(@ —8i-3j+k
Al:1
A2:2
A3:3
Ad: 4

Objective Question

1466 |/1466 4.0 1.00

Electronics circuits are placed generally inside metal box. This is for :
(1) Better durability of circuit

(2) Magnetic Shielding

(3) Electrostatic Shielding

(4) Humidity and temperature shielding

Al:1

A2:2
A3:3
Ad:4

Objective Question

1467 /1467 4.0 |/1.00

A charge of 4x10 “8Cis given to a metal cylinder of length 0.4 m placed in air. The electric

intensity due to a cylinder at a distance 4.5 cm from the axis is : [E = 9% 10° Sl Unit}
L4

(1) 4x10* V/m
(@ 4x10° V/m
(B) 2x10* V/m
@) 2x10° V/m
Al: 1
A2:2

A3:3

A4 4
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Objective Question
1468 1468 4.0 |/1.00
Magnitude of electric field at 5 pm distance from electric dipole on equational point is

5.76 X107 N/C. If each charge forming dipole has magnitude of 4 nC then length of the dipole is :
(in nm)

1 2

(2) 20

(3) 10
@) 1

Al:1

A2:2

Ad 4

Objective Question

1469 1469 —
Match List - I with List - 11
List - I List - II
= =
(A) Gauss's law in electrostatics (D) C,F B dl = p,l
; dd}B
(B) Biot-Savart's law oy e== &
[ dlsin®
(C) Ampere’s Circuital law (m |dB|= :'—:T .
r
D) Lenz's v) e =--
(D) Lenz's law (IV) 2

Choose the correct answer from the options given below :
(1) (AHIV), (B)-(IIL), (O)-(1), (D)-(ID)

(2 (A)-I), (B)-(1I), (O)-(1V), (D)-(I)

B) (A, (B-(IV), (C)-(111), (D)-(II)

(4) (A1), (B)-(I), (O)-(1V), (D)-(1I)

Al:1

A2:2

A3:3

A4:4

Objective Question
1470 1470 4.0 |/1.00

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 106/155



7/10/24, 7:41 PM 2_Live_ NCET_ENG_1201-1600.html

Carbon resister has colour codes Violet, Yellow, Brown, Silver. The value of resistance is :
(1) (47x10°Q)+10%
(2) (63 x 108 Q) +10%
(3) (74x10 Q)=10%
(4) (83 x10°Q)+10%

Al:1
A2:2
A3:3
Ad:4

Objective Question
1471 1471 4.0 1.00
The resistance between points C and D in the given circuit is :

M 0

@ 59

Objective Question

1472 11472 4.0 [1.00
A solenoid of length 60 cm has a radius of 1 cm and is made up of 600 turns. It carries a current of
5 A. The magnitude of magnetic field inside the solenoid is nearly :

(1) 328x10-3T
() 628x10~3T
(3) 314x10-3T
(4) 628x10-5T
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Al:1

A2:2
A3:3
A4:4

Objective Question

1473|1473 4.0 1.00
An element of length Ax=2 cm carries a current of 5 A is kept on x-axis. The magnitude of

magnetic field on y-axis at a distance 1 m from centre of the element is : (= 4m X 10~7 SI Unit)
(1) 4x10-°6T
(2 2x10°8T

@ 17T
(4 10°8T
Al:1
A2:2
A3:3
Ad:4
Objective Question
1474 ||1474 4.0 1.00
Match List - I with List - IL
List - I List - 11
(A) Relative permeability of vacuum (I) Large and Positive
(B) Susceptibility of diamagnetic material (II)  Unity
(C) Susceptibility of para magnetic material (III) Small and Positive
(D) Susceptibility of ferromagnetic material (IV) Small and Negative

Choose the correct answer from the options given below :
(1) (A, (B)-(11), (O)-(I), (D)-(IV)

(2)  (A)-(I), (B)-(LV), (O-1D), (D)-(D)

(3) (A, (B)-(IV), (O)-(1), (D)D)

4y (A)-(ID, (B)-(IV), (O)-(I1L), (D)-(1)

Al:1

A2:2

A3:3

A4 :4

Objective Question
1475 1475 4.0 |/1.00
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In mechanics mass is mechanical inertia, while in ac circuits :
1
2
(3) emf is an electrical inertia
(4)

capacitance is an eleclrical inertia

charge is an electrical inertia
inductance is an electrical inertia
Al:1

A2:2

A3:3

A4 4

Objective Question

1476 1476 4.0 1.00

In an ac circuit an inductor of 2.5 H is connected along with a capacitor. If the resonant frequency
is 10* Hz, then the value of capacitor is : [Take w2=10]

(1) 100 uF
2) 10 uF
3) 100 pF
(4) 10 pF

——

Al:1
A2:2
A3:3
A4:4

Objective Question

1477 1477 4.0 1.00

To reduce the resonant frequency in an LCR series circuit with a generator :
) the generator frequency should be reduced.
(2) another capacitor should be added in parallel to the first capacitor.
)  the iron core of the inductor should be removed.
)

dielectric in the capacitor should be removed.

Objective Question

1478 | 1478 4.0 1.00
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The net reactance of the given circuit is :

R=100

L=20mH C=103p.F

—~—

V =200 sin 100 t volt
) 100
) 120
) 80

) 100 Q

oy
by

Objective Question

1479 1479

A graph of magnetic flux (¢) versus current (I) is shown below for four different inductors P, Q, R

2_Live_NCET_ENG_1201-1600.html

and S. Largest value of self-inductance is for the inductor :

) Po
R
s

L
(2)
©)
(4)

e o

Al:1

A2:2

A3:3

A4:4

Objective Question

1480 /1480

The image formed was found to be 3 times magni_fied, real and inverted. If object was placed at

10 cm infront of the mirror, radius of curvature of the mirror is :

(1) 15cm
(2) 75cm
(3) —-25em
(4) 10cm
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Al:1

A2:2

A3:3

A4 :4

Objective Question

1481 |/1481

In a single slit experiment angles at which secondary maxima are found is given by :

(1) 6,=n\ where n=1,2,3 ...
(2 e,=n\awheten==x1, £2 3 .

@ 0,=(n+ Y)\wheren==1, =2, =3 .

2n+ 1

4) 9n= [ 3 ]% where n=*1, £2, =3 ..

(Symbols have their usual meaning)

Al:1
A2:2
A3:3

A4 4

Objective Question

1482 1482

Three lenses are combined to form a single lens. The focal lengths of used lenses are 10 cm, — 15 ecm
and 30 cm respectively. The power of combined lens is nearly :

(1) -667D
@) +6.67D
(3) -133D
@) +133D
Al:1
A2:2
A3:3
A4 4

Objective Question

1483 11483
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Match List - I with List - IL

List -1

(A) Lens maker’s formula

(B) Lens formula

(C) Mirror equation

I
(D) Refraction through spherical surface (IV) —=———

2_Live_NCET_ENG_1201-1600.html

List - II
@ f vou

L me—mal
D Iy Ry R

ol R, (L e
(1) - R

s 1
f v u

(all the symbols are used with their usual meangs)

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(IV), (O)-(L), (D)-(II)

2 (A1, B)-(1V), (O)-(1), (D)1
(3 (A)-(m), (B)-(IV), (OA11), (D)~
@) (A1), B)-UD, ©)-1V), (D)-1

Al:1

A2:2

A3:3

A4 :4

Objective Question

1484 | 1484

The de-Broglie wavelength associated with a ball of 6.62 X 107 g moving with 400 m/s is :

(h=6.62 x10~34 Js)
(1) 25x10-15 A
2) 25x10-5 A
3) 25x10-16 A
(4 50x10-14 A

— —

Al:1

A2:2

A3:3

A4:4

Objective Question

1485 /1485

)
)
)
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An electron, a proton and a neutron all three have same velocity in vacuum. The maximum de-
Broglie wavelength will be for :

(1) electron
(2) proton
®)

(4)

neutron

all will have same wavelength
Al:1
A2:2
A3:3
A4:4

Objective Question

1486 1486 4.0 |1.00
Match List - I with List - IL
List - I List - II
(A) Intensity of light (I)  Instantaneous process
(B) Frequency of light (I) depends on frequency of light
(C) Maximum K.E. of photoelectrons (II) number of photons per second
(D) Photoelectric emission (IV) energy of photon

Choose the correct answer from the options given below :
(1) (A0, (BRI, (O)-(IL), (D)-(IV)
(2 (A)-(I), (B)-(IV), (O)-(ID), (D)-(I)
@) (AL, B)-(D, (©)-0), (D)-(IV)
(4)  (A)-IV), (B)1), (C)-(IL), (D)-(I)

Al:1
A2:2
A3:3
A4:4

Objective Question

1487 /1487 4.0 11.00
The difference between the wavelengths associated with first and second member of Lyman series

in hydrogen spectrum is :

1 171 A
(2) 190 A
(3) 54 A

(4) 244 A
Al: 1

A2:2

A3:3
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A4 4

Objective Question

1488 /1488

An electron jumps from higher energy level (n;) to lower energy level {1113. For which of the following

2_Live_NCET_ENG_1201-1600.html

transitions wavelength of emitted photon is minimum :

(1} ne=2,
) nf= ]. ”
(3) 11f=3,
) nf:4,

Al:1
A2:2
A3:3

Ad 4

Objective Question

1489 1489

A radio active isotope has mass of 100 g and half life of 8 days. How many days will it take to

n=7
n,=2
n,=7
n.=5

reduce to 125 g ?

(1) 48 days
) 24 days

(3) 16 days
)

8 days
Al:1
A2:2
A3:3

A4 :4

Objective Question

1490 /1490
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Match List - I with List - IL

List - I List - 11
(A) NOR Gate o 4 [>o Y
(B) AND Gate (1) Q}Y
(C) NOT Gate (1) g:Do—Y
(D) OR Gate av) g:}‘f

Choose the correct answer from the options given below :
(L) (A)-(), (B)-(IT), (O)-(II), (D)-(IV)
(2 (A)-(1D), (B)-(III), (C)-(1V), (D)-([)
(3 (AIV), (B)-(I), (C)(IT), (D)~(IIL)
(@) (A, (B)-(IV), (C)-(1), (D)-(II)

Al:1

A2:2

A4:4

Objective Question

1491 1491 4.0 |/1.00
A 200 V a.c. supply is connected between points P and Q. The potential difference across the

capacitor is :

™~
Pe 1
::C
Qe
(1) 200V
@ 20042 V
@) 100V
@ 220V
Al:1
A2:2
A3:3
A4 4
Objective Question
1492 1492 4.0 1.00
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To extend the range of communication, the device used is called :
(1) transmitter

(2) receiver

3)

(4)

repeater

transducer

Al:1

A2:2

A3:3

Ad:4

Objective Question

1493 1493

4.0 11.00
Who was the undisputed leader of North Western frontier province and known as frontier Gandhi ?

(1) Lala Lajpat Rai

(2) Khan Abdul Gaffar Khan
(3) Madan Mohan Malviya

(4) Maulana Abul Kalam Azad

Al: 1
A2:2
A3:3

A4:4

Objective Question

1494 /1494

4.0 11.00
What was the movement for a separate Andhra called ?

(1) Dravidan

(2) Vishalandhra
(3) Chipko

(4) Tebhaga

Al:1

A2:2

A3:3

A4 :4

Objective Question

1495 11495

4.0 11.00
Who among the following was the first education minister of Independent India ?
(1) Rafi Ahmed Kidwai
(2) Maulana Abul Kalam Azad
(3) B. R. Ambedkar
(4) Rajkumari Amrit Kaur
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Al:1l
A2:2
A3:3
Ad: 4

Objective Question

1496|1496 4.0 1.00
Who among the following was the first recipient of the Bharat Ratma Award ?

(1) Sardar Patel

(2) C. Rajagopalachari
(3) B. R. Ambedkar
(4) Jawahar Lal Nehru

Al:1l
A2:2
A3:3
Ad:4

Objective Question

1497 1497 4.0 1.00
The Government of India replaced the Planning Commission with which new institution ?

(1) National Incremental Transit India

(2) National Indian Transportation Institute
(3) National Institution for Transforming India
(4) National Institute for Technology India

Al:1
A2:2
A3:3
A4:4

Objective Question
1498 /1498 4.0 |/1.00
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Article 51 of the Indian Constitution lays down some Directive Principles of State Policy on
‘Promotion of International Peace and Security’.
The state shall endeavour to -
(A) Promote International Trade and Finance.
(B) Maintain just and honourable relations between nations.
(C) Foster respect for International law and treaty obligations in the dealings of organised people
with one another.
(D) Encourage settlement of International disputes by arbitration.
Choose the correct answer from the options given below :
(1) (B), (C), D)
2 (A, B), ©
(3 (B) (O (A)
@ (&) B), (D)

Al:1
A2:2
A3:3
A4 4

Objective Question

1499 {1499 4.0 1.00
Name the minister in Union Cabinet from 1951-1956 who resigned taki_ng responsibility of the

Railway accident ?

(1) Sardar Patel

(2) K. Kamraj

(3) Lal Bahadur Shastri
(4) Ram Manohar Lohia

Al:1
A2:2
A3:3
A4 4

Objective Question

1500 |/1500 4.0 [1.00
Who proposed that all senior congress men should resign from office to make way for younger

party workers ?

(1) Karpoori Thakur
(2) S Nijalingappa
(3) V.V.Giri

(4) K. Kamraj

Al: 1l
A2:2

A3:3
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Ad:4

Objective Question
1501 /1501 4.0 1.00
Shah Commission Inquiry headed by :

(1)  Justice P. C Shah
(2) Justice R. C Shah
(3) Justice J. C Shah
(4) Justice T. C Shah

Al:1
A2:2
A3:3
Ad 4

Objective Question
1502 11502 4.0
In which year Goa became a state of the Indian Union ?

(1) 1985
() 1986
() 1987
(4) 1988

1.00

Al:1
A2:2
A3:3
Ad:4

Objective Question

1503 /1503 4.0 1.00
Before 1947, which Hindu Ruler, in Kashmir did not want to merge with India and tried to have

an independent status for his state.
(1) Hari Singh

(2)  Sher Singh

(3) Shamsher Singh

(4) Harender Singh

Al:1
A2:2
A3:3
Ad:4
Objective Question

1504 /1504 4.0 |/1.00
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Name the leader of the Soviet Union who proposed Asian Collective Security System.

(1)
(2)
@)
(4)
Al:1
A2:2
A3:3

Ad:4

Objective Question
1505 /1505

Nikita Khrushchev
Boris Yeltsin
Leonid Brezhnev
Mikhail Gorbachev

Given below are two statements :
Statement (I) : The 1992 United Nations Framework Convention on Climate Change (UNFCCC)

also provides that the parties should act to protect the climate system “on the
basis of equity and in accordance with their common but differentiated
responsibilities and respective capabilities.

Statement (II) : It was also acknowledged in the convention that per capita emissionin developing

countries are still relatively low China, India and other developing countries were
therefore exempted from the requirements of the Kyoto Protocol.

In the light of the above statements, choose the most appropriate answer from the options given
below :

L
(2)
©)
(4)

Al:1l

A2:2

A3:3

A4 :4

Objective Question
1506 /1506

Which countries from the following have made legal claims to sovereign rights over Antarctic

Both Statement I and Statement II are correct
Both Statement I and Statement Il are incorrect
Statement I is correct but Statement Il is incorrect

Statement 1 is incorrect but Statement Il is correct

territory ?

(1
(2)
)
(4)
Al:

A2:

A3

3

USA, India, Brazil, Germany
USA, China, Japan, South Africa
Pakistan, Srilanka, Japan, China
UK, Argentina, Chile, Norway
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A4:4

Objective Question

1507 /1507 4.0 1.00
Match List - I with List - IL
List - I List - I
(A)y K. N.Raj (I)  Green Revolution
(B) J. C. Kumarappa (II)  Economy of Permanence
(C) Satyajit Ray (III) Hasten Slowy
(D) M. 5. Swaminathan (IV) Pather Panchali

Choose the correct answer from the options given below :
1) (A)-D, (B)-(I), (O)-(IL), (D)-(IV)

2 (A)-Im), (B)-(ID), (O)-(1V), (D)-(I)

(@) (AHIV), (B)(IL), (C)-(1I), (D)-(I)

(4) (A1), (B)-(I1D), (O)-(1V), (D)-(I)

Al:1

A2:2

A3:3

Ad:4

Objective Question

1508 ||1508 4.0 1.00
Match List - I with List - IL
List - I List - II
Organisation/Treaty Country
(A) NATO Alliance (I) China
(B) WARSAW Pact () Belgrade
(€©) NAM Bf Summit () USSR
(D) Panchsheel (IV) USA

Choose the correct answer from the eptions given below :
M (A1, (B)-(ID), (O)~(I), (D)-(IV)

(@) (A, (B)-(D), (Cr(1), (D)-(IV)

(3)  (A)-(ID), (B)-(I11), (C)-(IV), (D)~(I)

4)  (AHIV), (B)«IL), (O)~1D), (D)-(I)

Al:1

A2:2

A3:3

A4 4

Objective Question
1509 1509 4.0 1.00
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Who was the founder of the Bahujan Samaj Party (BSP) ?

(1) Mayawati

(2) Mulayam Singh Yadav
(3) Kanshi Ram

(4) Lalu Prasad Yadav

Al:1
A2:2
A3:3

Ad:4

Objective Question

1510 /1510

Match List - I with List - I1.

List - I
(A) Mikhail Gorbachev (0
(B) Boris Yeltsin (1I)
(C) Nikita Khrushchev (1)
(D) Russia (Iv)

List - II

President of Russia

Successor of USSR in the UN
Introduced Perestroika and Glasnost
Peaceful coexistence with the West

Choose the correct answer from the options given below :

1 (A, B, ©)-1), (D)-(IV)
(2 (A)-(m), (B)-D), (O-(Iv), (D)-(ID)
@) (A, (BRI, (O, (D)-(1V)
@) (A1), (B)-(1), (C)-(1D), (D)-(1)
Al:1
A2:2

A3:3

A4:4

Objective Question

1511 1511

Given below are two statements :

Statement (I) : The Organisation for European Economic Cooperation (OEEC) was established

in 1948 to channel aid to the west European states.

Statement (II) : The Council of Europe established in 1949 was another step forward in political

cooperation of the European states.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement II is correct

Al:1
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A2:2

A3:3

Ad:4

Objective Question

1512 /1512

2_Live_NCET_ENG_1201-1600.html

Which of the following countries has successfully functioned as Democracy since its independence

from the British Rule ?
(1) Bangladesh

(2) Pakistan

(3) India

(4) Bhutan

Al:1
A2:2

A3:3

Objective Question

1513 /1513

Which Bank was created during the second world war in 1944 as a part of the Bretton Woods

system ?

(1) Scotia Bank
(2) Deutsche Bank
(3)  World Bank
(4) Royal Bank

Al:1
A2:2

A3:3

Objective Question

1514 1514

The idea of global security emerged in the

in response to the global nature of threats

such as global warming, international terrorism etc.

1) 1990
() 1890
(3) 1895
4) 1995
Al: 1
A2:2
A3:3

file:///D:INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html

4.0

4.0

4.0

1.00

1.00

1.00

123/155



7/10/24, 7:41 PM 2_Live_ NCET_ENG_1201-1600.html
Ad:4

Objective Question

1515 1515 4.0 |/1.00
o in the South Asia has also led to large scale migration to seek a better economic

opportunities.

(1) Health Epidemics

(2) Poverty

(3) Lack of Human Rights
(4) Global Warming

Al:1
A2:2
A3:3
A4:4

Objective Question

1516 1516 4.0 1.00
Match List - I with List - IL
List - I List - II
Organisations City of Headquarters
(A) United Nations (I) Paris
(B) International Court of Justice (II) Geneva

(C)  United Nations Educational, Scientific and (III) New York
Cultural Organisation (UNESCO)

(D) World Health Organisation (IV) Hague

Choose the correct answer from the options given below :

(1) (A, (B)-(I), (O, (D)-V)

(2 (A)-(Im), (B)-(IV), (C)-(L), (D)-(1T)

(@) (A)-1V), (B)-(II), (O)~(11), (D)-(I)

(4) (A, (B)-(IV), (O)-(), (D)~(I)

Al:1l
A2:2
A3:3
Ad:4

Objective Question

1517 1517 4.0 ||1.00
as a concept fundamentally deals with flows of ideas, commodities, people etc.

(1) Communism
(2) Globalisation
(3) Welfare state
(4) Colonisation

Al:1
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A2:2

A3:3

A4:4

Objective Question

1518 |[1518 4.0 1.00
Match List - I with List - IL
List - I List - II
(A) Naxalite Movement (Iy  Morarji Desai
(B) Proponent of Khadi, naturopathy (IIy Charu Majumdar
and prohibition
(C) Student's protest (Ilf) Bihar Movement
(D) Railway strike (IV) George Fernandes

Choose the correct answer from the options given below :
1L (AHD, (By-(II), (O-(II), (D)-(IV)
(2)  (A)II), (B)-(1V), (C)-(I), (D)-(II)
(3)  (A)-(1D), (B)-(1), (O)-(II), (D)-(IV)
@)  (A)-IV), (B)-(III), (O)-1L), (D)-(I)

Al:1
A2:2
A3:3
A4:4

Objective Question

1519 1519 4.0 11.00
Which of the followj_ng committee made a recommendations that election commission should be a

mult member body ?

(1) Sacchar Committee

(2) Ashok Mehta Committee

(3) Jeevan Reddy Committee

(4) Tarkunde Committee/]P Committee

Al:1

A2:2
A3:3
A4:4

Objective Question
1520 /1520 4.0 |/1.00
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What is contained in the Tenth Schedule of the Indian Constitution ?

(1) Official languages recognized by the Constitution of India

(2) Provisions in relation to administration and control of Scheduled areas and Scheduled tribe
(3) Provisions that specify powers and responsibility of Panchayats

(4) Provisions related to the disqualification of the members of Parliament and state Legislature

on the grounds of Defection
Al:1
A2:2
A3:3

Ad:4

Objective Question

1521 |[1521

If individuals use past experiences creatively to solve novel problems, then they are high on :

(1) Componential Intelligence
(2) Analytical Intelligence

(3) Experiential Intelligence
(4) Contextual Intelligence

Al:1
A2:2
A3:3

A4:4

Objective Question

1522 1522

As per integral intelligence, aspects like self regulation, self monitoring of emotions, good conduct

and self evaluation, are all part of :
(1) Cognitive capacity

(2) Social competence

(3) Enfrepreneurial competence
(4) Emotional competence

Al: 1
A2:2
A3:3

A4 :4

Objective Question

1523 /1523
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In the hierarchial model of intelligence, Level I is associate learning, which means :
(1)  When one set of abilities are used for solving all problems

(2) Output is more or less similar to input

(3) Higher order skills are used to transform input into effective output

(4)  When input is far more than the output

Al:1
A2:2
A3:3
Ad:4

Objective Question

1524 /1524 4.0 1.00
The situationalist perspective views human behaviour :

(1) relatively less as a result of influence of internal factors

(2) as distinctiveness and variation among people’s characteristics and behaviour
(3) as influenced by personal traits that are inherited

(4) relatively more as a result of influence of external factors

Al:1
A2:2
A3:3
A4:4

Objective Question

1525|1525 4.0 [1.00
A Psychologist wants to assess the intelligence of few individuals from a tribal community, who

have never gone to school and are not familiar with the language. What type of intelligence tests
would be used here :

(A) Verbal

(B) Culture-bias

(C) Individual

(D) Performance

(E) Group

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A)and (B) Only

(3) (D) and (E) Only

(4) (A) and (D) Only

Al:1
A2:2

A3:3
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A4 4

Objective Question

1526 1526

To assess unconscicus motives and feelings, Psychologists use

)
2
(3)
@)

Al:1

A2:2

A3:3

A4:4

Objective Question

1527 ||1527

When individuals defend against anxiety by adopting behaviours opposite to their true feelings,

2_Live_NCET_ENG_1201-1600.html

Self report inventories
Projective techniques
Interview method
Behavioural analysis

then they are using :

(1
(2)
3)
(4)
Al:
A2:

A3:

A4 :

Objective Question

1528 |/1528

Reaction formation
Rationalisation
Denial

Projection

The instinctual life force that energises the ‘id’ is called :

(L
(2)
©)
(4)

Al:

A2:

A3:

A4 :

Objective Question

1529 11529

Ego
Libido
Super ego
Thanatos
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Identify the learning theory which utilises the concept of modelling for learning new behaviours.
(1) Classical conditioning

(2) Vicarious learning

(3) Observational learning

(4) Instrumental learning

Al:1
A2:2
A3:3
Ad:4

Objective Question

1530 (/1530 4.0 1.00
Match List - I with List - IL
List - I List - II
(A) Personal self () “I am honest and hard-working”
(B) Social self (I) for example personal responsibility, personal achievement
(C) Personal identity (IIT) “I am an Indian”
(D) Social identity (IV) for example giving emphasis to unity, sacrifice, sharing etc.
Choose the correct answer from the options given below :
@ (A1), B)-(D), (©)-1), (D)-AV)
2 (A, (B, (O)-I), (D)-(IV)
(3)  (A)-(IL), (B)-(IV), (O)-(1), (D)-(1I)
@) (A1), (B, (O)-(L), (D)-(1)
Al:1
A2:2
A3:3
A4:4
Objective Question
4.0 1.00

1531 /1531
[denlify the characteristic which is not a part of the personality trait ‘hardiness’.

(1) Commitment
(2) Control

(3) Courage

(4) Challenge
Al:1

A2:2

A3:3

A4:4
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Objective Question

1532 /1532 4.0 1.00
Perfectionism is an unhelpful habit because :

(1) One puts the issue under the carpet and refuses to accept it

(2) One avoids confronting fears of failure or rejection

(3)  One feels tense and is unable to relax also is critical of self and other
(4) One cannot plan time and delegate work to relieve the stress

Al:1
A2:2
A3:3
Ad:4

Objective Question

1533 /1533 4.0 1.00
Which psychologist is associated with “three approaches” to describe the human-environment

relationship ?
(1) Dollard
(2) Miller
(3) Hall

(4) Stokols

Al:1
A2:2
A3:3
A4 :4

Objective Question

1534 /1534 4.0 11.00
Arrange the following in the order of its occurrence :

(A) In primary appraisal, the new or changing environment is perceived as positive, neutral or
negative

(B) Once we perceive an event as stressful, we do a secondary appraisal

(C) Negative events are appraised for their harm, threat or challenge

(D) An individual responds to stress based on their perception or appraisal according to Lazarus

(E) Here we access one’s coping abilities and resources to meet the harm, threat or challenge

Choose the correct answer from the options given below :

1) (@) (© (A) (B), (B)

2 (D). (A) (©, (B), (B)

@) (©). (B), (E), (D), (A)

@) (B). (D) (A), (©), (B)

Al:1
A2:2

A3:3
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A4:4

Objective Question

1535|1535 4.0 1.00

The interactional approach focuses on to understand abnormal behaviour.

(1) Inadequacies in the way one thinks, feels and perceives the world

iological, social and psychological factors

2) Biological 1 and psychological facto

(3) Psychological conflicts and disturbed interpersonal relationships

(4) Providing community care to the individuals with issues

Al:1

A2:2

A3:3

Ad 4
Objective Question
1536 1536 4.0 1.00

Which model states that abnormal functioning arise from problems like irrational and inaccurate

beliefs, negative conclusions and over generalisations ?

(1) Behavioural model

(2) Secio cultural model

(3) Cognitive model

(4) Psychodynamic model

Al:1

A2:2

A3:3

Ad 4
Objective Question

4.0 1.00

1537 1537
Susan has a distorted body image. She sees herself as overweight, exercising compulsively and

refuses to eat especially in front of others. These symptoms are typical of
(1) Anorexia Nervosa

(2) Bulimia Nervosa

(3) Binge eating

(4) Pica disorder

Al:1
A2:2
A3:3
Ad: 4

Objective Question
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1538 /1538
Identify the approaches that will help to foster self-esteem in children.

(A) Establishing a trustful communication
(B) Avoiding focus on physical and social skills
(C) Providing opportunities for early identification, treatment and care of children at risk

(D) Setting goals for them which are specific, measurable, achievable relevant and has a time
frame

(E) Accentuating positive life experiences to develop a positive identity
Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2)  (A), (C) and (E) Only

(3) (A), (D) and (E) Only
(4) (A), (B) and (D) Only

Al:1
A2:2
A3:3
Ad: 4

Objective Question

1539 1539
Match List - I with List - 11

List - I List - II
(A) Excess of thoughts, emotions and behaviour (I) Negative symptoms of Schizophrenia
(B) Deficits of thought, emotions and behaviour (II) Delusions
(C) Odd grimaces and gestures (II) Positive symptoms of Schizophrenia
(D) False belief (IV) Psychomotor symptoms
Choose the correct answer from the options given below :
(1)  (A)-(m), (B)D), (C-AV), (D)-(I)
(@) (A)m), (B)IV), (O-1), D)-()
@) A1), B)-0), (OA1V), (D)-(1)
@) (A0, (BR(I), (CR(I), (D)-(IV)

Al:1
A2:2
A3:3
A4:4

Objective Question
1540 1540
[denti_fy the advantage of “Observation Method” :

(1) Day to day activities can go unnoticed by the observer

(2) It allows behaviour to be seen and studied in its natural setting

(3) Events being observed are subject to observers bias

(4) Behaviour and responses of others may get influenced by the presence of the observer
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Al:1

A2:2
A3:3
A4 :4

Objective Question

1541 ||1541 4.0 1.00
[denlify the statement which is true to “maintaining factors” in behavioural analysis.

(1) Behaviours that cause distress to the client

(2) Causes which predispose the person to indulge in maladaptive behaviour
(3) Factors that lead to persistence of the faulty behaviour

(4) Factors that extinguish or eliminate the faulty behaviour

Al:1
A2:2
A3:3
A4 :4

Objective Question

1542 1542 4.0 |/1.00
Riyais under treatment for smoking. Her therapistis using token economy as a part of her treatment.

Choose the correct sequence of steps followed in the therapy.

(A) Her target is to reduce 5 smokes everyday

(B) She continues to reduce 5 smokes all days per week and earns coupon each day
(C) Instead of having 9 cigarettes, she takes only 4 per day

(D) Everyday she gets a coupon for reducing 5 smokes

(E) At the end of the week she uses all coupons for a desired reward
Choose the correct answer from the options given below :

(1) (A), (B), (©), (D), (B)

2 (A)(©), (D), (B), (E)

@) (), (O, (D), (B), (A)

) (A), (D) (©), (B), (E)

Al:1
A2:2
A3:3
Ad:4

Objective Question
1543 /1543 4.0 |/1.00
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Match List - I with List - I1.

List - I List - II
(A) Vipasana (I)  Rapid breathing techniques to induce hyperventilation
(B) Yoga () Combines pranayma or breath_i_ng technique with chanting

of mantras
(C) Sudarshan Kriva Yoga (III) Mindfulness based meditation
(D) Kundalini Yoga (IV) Asanas or Pranayams or Combination of both
Choose the correct answer from the options given below :
(1) (A)-(m), (B)-(1D), (©O)-1), (D)-(1V)
(2 (A, (B)-(1V), (O-(D), (D)-(1D)
(@) (A)-IV), (B, (O)-1), (D)-(11)

@) (A)D, (BHIV), (C)(I), (D)-(I)
Al:1
A2:2
A3:3
A4:4

Objective Question

1544|1544 4.0 |1.00
The two important steps that take place in the two-step concept leading to attitude change are :

(1) Identification, Imitation
(2) Congruence, Credibility
(3) Identification, Emotions
(4) Extremeness, Imitation

Al:1
A2:2
A3:3
Ad: 4

Objective Question
1545 1545 4.0 [1.00
Which of the following is not a component of attitude ?

(1) Affective

(2) Cognitive

(3) Behavioural
(4) Physiological

Al:1
A2:2
A3:3

A4 4

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 134/155



7/10/24, 7:41 PM

Objective Question
1546 1546

Arrange the following sentences in the correct sequence as they occurred in LaPiere’s study :
To study this, he sent a Chinese couple to different states in USA
A large number of the hotels said they would not, thus showing a negative attitude which
was inconsistent with their positive behaviour

(A)
(B)

(©)
(D)
(E)

LaPiere found that except once, the Chinese couple were welcomed in all the hotels
A famous study was conducted by LaPiere to see if attitudes always predict one’s behaviour

LaPiere then sent questionnaires to the hotels in the areas where the Chinese couple stayed

2_Live_NCET_ENG_1201-1600.html

to ask if they would welcome Chinese guests

Choose the correct answer from the options given below :

1)
(2)
&)
(4)

A2:2
A3:3
A4 :4

Objective Question
1547 1547

When there is repeated interactions with the same set of individuals, we form a group due to :

(1)
(2
(©)
(4)
Al:1
A2:2
A3:3

A4 :4

Objective Question
1548 | 1548

(D). (©), (A), (B), ()
(E), (O, (B), (A), (D)
(B), (O, (A), (D), (E)
(D). (A), (©), (E), (B)

Similarity

Proximity

Self-esteem

Commeon motives and goals
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Identify the statements, given below, that explains cohesiveness.

(A) Refers to relative social position given to group members

(B) Refers to thinking, feeling and acting like one social unit rather than an isolated individuals
(C) Refers to team spirit or ‘we’ feeling

(D) Refers to socially defined expectations that one is supposed to fulfil

(E) Refers to togetherness, binding or mutual attraction amongst members
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (O and (D) Only

(3) (B), (C) and (E) Only

(4) (A), (O and (E) Only

Al:1
A2:2
A3:3
A4:4

Objective Question

1549 1549 L 4.0 11.00

‘7Yy' - vy ggHI-faval THaEd T w9 vafd ?

(1 wyf

(2) wYfw:

(3) WY

@ wyF

Al:1

A2:2

A3:3

A4 4

Objective Question

1550 11550 4.0 1.00
g v weST-Taverl ke T w9 vafa ?
(1) ==
(2) IV
(3) w9
4) 9@
Al:1
A2:2
A3:3
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A4:4

Objective Question
1551 |/1551

2_Live_NCET_ENG_1201-1600.html

‘A - YTl TR STYEiEae {6 w9 et ?

(1) @ud
2) @WH
(3) @H
(4) TS

—

Al:1

A2:2

A3:3

A4 4

Objective Question
1552|1552

A2:2

A3:3

A4 :4

Objective Question

1553 /1553
- AFA FANT: Hfen q4 wafa ?
(1) aEFEend
(2) vaeprene
(3) wfesremmnd
(4) =
Al:1
A2:2
A3:3
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A4 4

Objective Question

1554 1554
[

CRCECRG
999

Al:

2_Live_NCET_ENG_1201-1600.html

fien o cafa || - soa Raasur qEa |

—_

Objective Question

1555 1555

Objective Question

1556 ||1556

‘THIsEE Teas A a-fasse e -

2,
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Objective Question

1557 1557 4.0 1.00
" ogeItet: | SO R WHIE: ?
(1) s
(2) &B=
(3) TgE:
(@) =EEfe:
Al:1
A2:2
A3:3
Ad:4
Objective Question
1558 ||1558 4.0 1.00
g9 AN T W Sr WWETIeH, S -
(1) <
(2) <A
(3) TEET:
(4) S
Al:1
A2:2
A3:3
A4 :4
Objective Question
1559 1559 4.0 1.00
‘TifyeR’ T+ geAd: ?
(1) =
(2) =g
3) =M
4 =M
Al:1
A2:2
A3:3
Ad:4
139/155
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Objective Question
1560 1560

Objective Question
1561 1561

2_Live_NCET_ENG_1201-1600.html

"I wred A wger ST | s e eife -

) AR
) S
) ST
)

SAITAY

(1
2
(3
(4
Al:1
A2:2
A3:3

Ad: 4

Objective Question
1562 1562

AT Rl favaIdaR HH SEaRHad -

(Ay T
(B) A
© T
(D) 7Y
() e

m%ﬁgﬁg}aﬁgmaﬁiﬁga—

L © (A), (B) E), D)
2 (B, (D) (©), (B), (A)
3)  (A) (B), Q). (D) (E)
#) (©. (A), (D), (B) (B)

Al:1
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A2:2

A3:3
Ad:4

Objective Question
1563 ||1563 4.0 1.00

ST YEEHT FAFRETER i Sedd —
(A) =fa

(B) =

(Q w

(D) #M

(E) =

sefearaay ey faaamy 39 f=9a -
1 (A)(B), ©). (D) (E)

) (B, (B), (A), ©), (D)

3  ®), (D) (B), (O, (A)

(#) (B), (D), (Q), (B), (A

Al:1
A2:2
A3:3
Ad:4

Objective Question
1564 /1564 4.0 |/1.00

. ; ¢ i .
(A) TIETTH

(B) 79

(©) T

(D) TUAR

(E) I

sreiferfedy foerety Sfadaa 3w faqq -
1) (E). (D). (O (B), (A)

(2) (D), (A), (B), (E), (CO)
(3 (D), (B). (E), (O), (A)
@) (B), (B), (A), (©), (D)

Al:1
A2:2

A3:3
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A4 4

Objective Question

1565 ||1565

S " 3w e fasrR et ?
(A) g

(B) =

© =t

(D) e

(E) FHl
spifefay forsrery Sfamamm s faqa -
(1) T (A), (B)

(2) e (B), (C)

(3) e (C), (D)

(4) SaT (D), (E)

Al:1
A2:2
A3:3

A4:4

Objective Question

1566 ||1566

“arErdl STH ST oF USHA F1G 7 viea | e ars fRamey s -

(A) o

®) e

©

(D) T&TEA

B) veEd
sty fasety shamam 39 faqd -
(1) e (A), (B)

2 =e (B), (C)

(3) Fa@ (D), (E)

(4) =T (B), (E)

Al:1
A2:2
A3:3

Ad:4

Objective Question
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1567 ||1567 4.0 1.00

AU 975 A -
(A) g

(B) el

(C) e

(D) THE

®) F
sreiferfedy forerety Sferaam 3w faqd -
(1) e (A), (B)
(2) e (B), ()
(3) @ (O), (D)
(4) FF (D), (E)

Al:1
A2:2
A3:3
A4 :4

Objective Question

1568 1568
v g fgdtaan 9= | vead -
Tl - 1 Tl - 11

(A) 'wEmR-EgR @ -l
() ‘wE-Am () =gei-faafam:
(©) ‘=ma’-am (i gara-favfa:
(D) ‘gereE - (1v) wET-favfam:
sefaraay oy Feaam 3w f=1a -

(1)  (A)-V, (B)-III, (C)-11, (D)-I

(2) (AL (B)-II, (O)-I1L, (D)-IV

(3) (AL (B)-1V, (), (D)-I1I

(4) (AL (B)-IIL, (C)-1V, (D)-I

4.0 1.00

Al:1
A2:2
A3:3
Ad:4

Objective Question

1569 | 1569 4.0 1.00
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vl e fadfraan g we vemd -

Tt - 1 =t - 11
(a) g 0 G-I
(B) HITEH (I -
() =1 (Ill) TR -—9ea;
(D) F=HM: (V) TR v
sty foemery S 3w faqa -

(1) (A)IV, B)-1IL (C)-IL, (D)
(2) (A)V, (B)-1IIL, (C)-L, (D)-II
(3) (AL (B)-L (O)-IL, (D)-IV
(4) (AMIL (B)-L (Q)-1V, (D)-II

Al:1

A2:2

A3:3

Ad:4

Objective Question

1570 1570 4.0 |/1.00
vl et fgeiraan g we werd -
T - 1 Tt - 11

(A) wifd: @ =

(B) &4 an favae

(© sfE (II) =T

(D) SHEI (Iv) wmq

sefaraay faesrery Feaam 3w f=qa -

(1) (A)MIL (B)-1V, (C)-L (D)-II
(2) (AL (B)L (C)-IV, (D)-11I
(3) (AL (B)L (O)-IL, (D)-IV
(4)  (A)V, (B)-1IL, (C)-I1, (D)-I

Al:1

A2:2

A3:3

A4:4

Objective Question
1571 1571 4.0 |/1.00
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Objective Question
1572 |/1572 4.0 |1.00

Objective Question

1573 ||1573 4.0 1.00
¢

— e
rhbJNn—li
e o T L S

Al:

—_

A2:2

A3:3

Ad: 4

Objective Question
1574 1574 4.0 1.00

file:///D:/INCET QP/ZIP/2_Live_NCET_ENG/2_Live_NCET_ENG_1201-1600.html 145/155



7/10/24, 7:41 PM

A2:2
A3:3
A4 4

Objective Question

1575 /1575
o Tee yEETey At -
1 &

A2:2
A3:3
A4 : 4

Objective Question

1576 /1576
‘S e faeimaey s -
(1)  wE=arEy
(2 Fuam

) i

(4)

Objective Question
1577 1577

2_Live_NCET_ENG_1201-1600.html

7" g fraeerd g
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In India Census began to be conducted by British Government between :

(1) 1858-62
() 1867-72
(3) 1890-98

(4) 1900-1905
Al:1
A2:2
A3:3
A4 :4

Objective Question

1578 1578 % 4.0 1.00
The percentage of urban population of India in 1901 census was :
(1) 6.5%
(2) 8.5%
(3) 10.8%
(4) 15.8%
Al:1
A2:2
A3:3
A4:4
Objective Question
1579 (1579 40 [1.00
The birth rate is ;
(1) Number of live births per 1,00,000 population
(2) Number of live births per 10,000 population
(3) Number of live births per 1,000 population
(4)  Number of live births per 100 population
Al:1
A2:2
A3:3
A4 4
Objective Question
4.0 |1.00

1580 /1580
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What would be “regional share of projected population growth upto 2041 in Uttar Pradesh and
Bihar together ?

(1) 13%

(2) 15%

(3) 28%

(4) 38%

Al:1
A2:2
A3:3
Ad:4

Objective Question

1581 |[1581 4.0 1.00

In India’s Mixed Economy Policy after Independence which of the following sectors were reserved
only for Government ?

(1) Power, aviation and edible products

(2) Defense and Transport only

(3) Mining, Small Industries, Stationary

(4) Defense, Transport and Communication, Power, Mining

Al:1
A2:2
A3:3
A4 : 4

Objective Question

1582 1582 4.0 1.00

Which of the following tribes have matrilineal family structure ?
(1) Gond

(2) Korku

(3) Khasi

(4) Bhil

Al:1

A2:2
A3:3
A4:4

Objective Question

1583 /1583 4.0 |/1.00
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Which of the following commission were constituted to look into measures for the welfare of OBC's ?
(1) Sarkaria Commission

(2) Kaka Kalelkar Commission

(3) Sachar Committee

(4) Rangnath Mishra Committee

Al:1
A2:2
A3:3
A4:4

Objective Question

1584 1584 4.0 1.00

Which of the following linguistic groups was not the part of Old Bombay State ?
(1) Marathi

(2) Gujarat

(3) Kannada

(4) Telugu

Al:1
A2:2
A3:3
Ad:4

Objective Question

1585 1585 4.0 1.00

What is not true about the Right to Information Act?

(1) It was passed by Indian Parliament in 2005

(2) It was made applicable to all states and Union Territories of India

(3) It was made applicable to all states and Union territories (except the state of Jammu and
Kashmir)

(4) This law empowers any person to request information from a ‘public authority” which is
expected to reply expeditiously

Al:1
A2:2
A3:3
Ad:4

Objective Question

1586 | 1586 4.0 1.00
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“While ‘lower castes’ sought to be Sanskritised, ‘upper castes’ sought to be “Westernised’. Who has

said this in context of India ?
(1) Rudolph and Rudolph
(2) ML.N. Srinivas

(3) Rajni Kothari

(4) MS.A Rao

Al:1
A2:2
A3:3

A4 4

Objective Question

1587 ||1587

Nea_rly a decade before the Country’ s Independence, in 1938 a National Planning Committee was

constituted. Who was the Chairman of that Committee ?
(1) Vallabh Bhai Patel

(2) K.T. Shah

(3) Jawaharlal Nehru

(4) B. R. Ambedkar

Al:1
A2:2
A3:3

A4:4

Objective Question

1588 1588

Which of the following is not a trait of modernity ?
(1) Rationality

(2) Achievement Orientation

(3) Holding Secular values

(4) Interaction on the basis of caste and religion
Al:1

A2:2

A3:3

A4 :4

Objective Question

1589 1589
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Which of the following sessions of INC (Indian National Congress) first dwelt on how Independent
India’s Constitution should look like ?

(1) 1931, Karachi Session

(2) 1885, Bombay Session

(3) 1886, Madras Session

(4) 1887, Calcutta Session

Al:1
A2:2
A3:3
Ad:4

Objective Question

1590 |/1590 4.0 1.00

“Whereas, the genuine place of classes is within the economic order, the place of status group is
within the secial order...... But parties live in a house of power ...... “ Who has written this ?

(1) Karl Marx

(2) Max Weber

(3) ].S. Mills

(4) Auguste Comte

Al:1
A2:2
A3:3
Ad: 4

Objective Question

1591 1591 4.0 1.00

In this system the “actual cultivators’” (who were themselves often landlords and not cultivators)
rather than the Zamindars were responsible for paying the tax. In this system the comparative
burden of taxation was less and the cultivators had more incentives to invest in agriculture.
Which of the following system represents above description ?

(1) Indigo cultivation

(2) Permanent settlement

(3) Mahalwari system

(4) Raiyatwari system

Al:1
A2:2
A3:3
A4:4

Objective Question

1592 111592 4.0 |/1.00
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Which of the following castes is not a service caste ?
(1) Jat

(2) Kumhar

(3) Sunar

(4) Dhobi

Al:1
A2:2
A3:3
A4:4

Objective Question

1593 /1593 4.0 1.00
Which of the following statement about Green Revolution is false ?

(1) Introduction of Machinery lead to the displacement of service caste groups who used to
carry out agriculture related activities

(2) Ultimate outcome of Green Revolution was a process of differentiation in which rich grew
richer and many of poor also benefited and their social upliftment became possible

(3) Thesecond phase of green revolution is being introduced in the dry and semi arid regions of
India

(4) In most of Green Revolution areas, Farmers have switched from a multi crop system to mono-
crop regime

Al:1
A2:2
A3:3
A4 : 4

Objective Question

1594 /1594 4.0 1.00
Which of the following nationalist and democratic publications were started by Raja Ram Mohan

Roy 7

(1) Sambad-Kaumudi and Mirat-ul-Akhbar
(2) Bombay Samachar and Harijan

(3) Shome Prakash and The Statesman

(4) Kesari and The Hindu

Al:1
A2:2
A3:3
Ad:4

Objective Question
1595 1595 4.0 1.00
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As a part of Civil disobedience Movement, Gandhiji choose to break the salt laws as a protest. In
which year he launched this movement ?

(1) 1920

(2} 1925

(3) 1930

(4) 1935

Al:1
A2:2
A3:3
Ad:4

Objective Question
1596 1596 4.0 1.00
The “Weightless Economy” is one in which :

(1) The products have their base in raw agricultural produces
(2) The products have their base in electrical components

(3) The products have their base in information

(4) The products are manufactured in heavy industry

Al:1
A2:2
A3:3
Ad:4

Objective Question
1597 /1597 4.0 |1.00
Who has argued that “a social movement is an aggregation of rational individual actors pursuing
their self interest” ?
(1) Mc Carthy and Zald
(2) Mancur Olson
(3) Herbert Blumer
(4) T.K. Oommen

Al:1
A2:2
A3:3
Ad:4

Objective Question
1598 /1598 4.0 |1.00
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Arrange the following in chronological order of their foundation.
(A) The Pioneer in Allahabad

(B) The Times of India in Bombay

(C) The Madras Mail

(D) Civil and Military Gazettes in Lahore

(E) The Statesman in Calcutta

Choose the correct answer from the options given below :
L (B), (A), (©), (E), (D)

(2 (D). (B), (O, (A), (B)

@) (©). (A), (B), (E), (A)

(4) (A), (B), (). (D), (E)

Al:1
A2:2
A3:3
A4:4

Objective Question

1599 1599 4.0 11.00
7314 Amendment to Constitution provided :

(A) A three-tier system of Panchayati Raj for all states having a population of twenty lakhs
(B) Elections to these bodies be conducted every six years
(C) It provided reservation of seats for scheduled castes, scheduled tribes and 33 percent to women

(D) It constituted District Planning Committee to prepare drafts and develop plans for the district
as a whole

Choose the correct answer from the options given below :
(1 (@A), B), (©) (D)

2 (A),(B), (C) only

3) (A, (O), (D) only

4) (B), (C), (D) only

Al:1

A2:2

A3:3

Ad 4

Objective Question
1600 | 1600 4.0 1.00
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The most commonly cited features of caste are :

(A) Caste is determined by birth

(B) Caste is endogamous

(C) Caste is homogeneous

(D) Caste involve sub-divisions among themselves
Choose the correct answer from the options given below :
1) (A), (B), (©), (D)

(2 (A), (B), (C) only

(3) (A), (B), (D) only

(4) (B), (C), (D) only

Al:1
A2:2
A3:3

A4 4
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